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--- On commencing at 9:35 a.m.


[Ms. Lea speaks to matters off the air at 9:30 a.m.]


MS. LEA:  I'm sorry, Mr. Rogers I forgot we hadn't gone on air.  Before we do so, any preliminary matters anybody wants to discuss before we actually turn to the formal part of the technical conference?  Okay.  Seeing none --


MS. GIRVAN:  I would like some clarification about the....

[Off-the-record discussion]


MS. LEA:  Let's go on air, please.  I am afraid, Don, I will have to ask you --
Appearances:


MR. ROGERS:  My name is Don Rogers.  As I said, I am counsel for the applicant in this case.  With me today is Mr. Allan Cowan, who is director of major applications for the utility.  I will just introduce the witnesses, as well, for those who aren't here.

We have Mr. Henry Andre on the right, who is manager of distribution and transmission pricing, and beside him Mr. Stan But, manager of economics and load forecasting.

When we're finished taking appearances, Ms. Lea, these gentlemen have a slide presentation to outline the evidence for which they are responsible.

MS. LEA:  Okay.  Thanks.  I will just go ahead with appearances here and then we will move around the room.  I am Jennifer Lea, counsel for Board Staff.  To my right is Ceiran Bishop, to my left Harold Thiessen and Leila Azaiez.

MS. GIRVAN:  Julie Girvan for Consumers Council of Canada.

MR. YOUCH:  Bradie Youch, Energy Probe.

MR. GARNER:  Mark Garner with VECC.

MR. RUBENSTEIN:  Mark Rubenstein, School Energy Coalition.

MS. GRICE:  Shelley Grice, consultant for AMPCO.

MR. POCH:  David Poch, counsel for Green Energy Coalition, and joining me late will be Bill Marcus, consultant.

MR. TED COWAN:  Ted Cowan, Ontario Federation of Agriculture.

MR. CHESHIRE:  Bill Cheshire, Balsam Lake Coalition.

MR. COPES:  Nicholas Copes with --


MS. LEA:  I think, gentlemen, your mic is not on down there.  You have to press the --


MR. CHESHIRE:  Oh, yes, sorry.  Bill Cheshire, Balsam Lake Coalition.

MR. COPES:  And Nicholas Copes, Balsam Lake Coalition.

MR. McGEE:  John McGee representing the Federation of Ontario Cottagers' Associations.

MS. LEA:  Same thing, Mr. McGee.  Push the little green button.

MR. McGEE:  John McGee.  Is that right?

MS. GIRVAN:  You know what?  Sometimes that one doesn't work.

[Laughter]


MS. GIRVAN:  I've been an experienced intervenor.

MR. McGEE:  John McGee, Federation of Ontario --


MS. LEA:  No, that one doesn't work.

MR. ROGERS:  He said it's John McGee for the Federation of Ontario Cottagers' Associations Incorporated.

[Laughter]


MR. PUGH:  It's Randy Pugh from OPG.

MR. STEPHENSON:  Richard Stephenson from the Power Workers' Union.

MR. HURLEY:  Patrick Hurley, individual, representing four cottages on Lynx Lake and intervenor.

MS. LEA:  Thank you.  And I see that Lisa Brickenden has joined us at the back for Board Staff.

I also -- yeah, I think that is it, then.  And Susan Frank spoke earlier and she is just sitting to the right of Don Rogers.

That's it, thank you.

MS. GIRVAN:  Peter Thompson was going to call in.

MS. LEA:  Peter, are you on the line?

MR. THOMPSON:  I'm on the line.  Peter Thompson for CME.

MS. LEA:  Thanks, Peter.

MR. THOMPSON:  You're welcome.

MS. LEA:  Very well.  Don Rogers, take it away, please.

MR. ROGERS:  All right.  Thank you, Ms. Lea.

Good morning, gentlemen.  I understand that you have a slide presentation that you can walk us through to explain an overview of the evidence?

MR. ANDRE:  We do.

MR. ROGERS:  Could you do that for us, please?
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Henry Andre

Stan But

MR. THOMPSON:  Don, could that be e-mailed or has it been mailed by any chance?

MR. ROGERS:  It is, Peter.  I think it's already been e-mailed or in the process of being transmitted right now.

MR. THOMPSON:  Okay, thanks.
Presentation by Mr. Andre


MR. ANDRE:  So good morning, everyone.  Mr. But and I are here to discuss cost allocation, rate design and line loss study components of our 2015 to 2019 distribution application.

Our plan today is walk is to walk through a high-level review of the following topics that you see on your monitors.  I will be talking about our proposals regarding changes to customer classification, and then I will discuss our proposals with respect to cost allocation and changes to the revenue-to-cost ratios resulting from the output of the cost allocation model.

MR. ROGERS:  Excuse me, Mr. Andre.  Can I just stop you for a moment.  Is everyone getting this on their monitor?

MS. GIRVAN:  You have to turn the monitors on.

MR. ROGERS:  Yeah, I knew that.

[Laughter]


MR. ROGERS:  Mine is working.

MS. GIRVAN:  No, I didn't.  I just turned mine on, so there you go.

MR. ROGERS:  It is not on the big screen behind.  I don't know that it matters, as long as everyone can see it here.  All right, sorry, carry on.

MR. ANDRE:  All right.  After the cost allocation, I will talk about our proposals with respect to rate design, primarily the changes on fixed and variable charges, and then I will end off my part with a discussion of a number of other miscellaneous rates-related items.

Mr. But will then provide a high-level summary of the results of the line loss study included in our application.

So with respect to customer classification, our application incorporates the results of a province-wide rate class review that was carried out.  As part of our settlement in Hydro One's 2013 IRM application, Hydro One agreed to review the rate classification of our customers to ensure that they are within the appropriate current rate classifications.

The rate class review assigned all of our density-based customers across the province into one of three density zones based on the currently approved definitions.

And those are that customers or areas that had more than 60 customers per line kilometre and a cluster of at least 3,000 customers were defined as urban density or high density zone; sometimes we use that term.

Customers or areas with more than 15 customers per kilometre of line and a cluster of at least 100 customers were classified as being in a medium density zone, and then the remaining customers are classified as being in a low density zone.

We completed the rate class review across the province by leveraging the information on the location of our customers and information on our assets available through our geographic information system, which I will refer to as GIS.  That is the short form.

GIS has been available for a number of years, but only recently were we able to start making use of the asset information that we've been collecting over the last several years and combining that with the customer information available from our smart metering customer billing systems.

One of the outcomes of the rate class review is a new density zone layer within the GIS system.  The GIS has various layers.  There will be a layer for roads and there will be a layer for water bodies, and now there is a layer that shows all of the density zone boundaries.  And that is going to be used by our field staff to ensure that new customers are appropriately classified on an ongoing basis.

Our plan is to update this province-wide review on a five-year basis to time it with our applications going forward.

Next slide, number 4, has the results of the rate class review.  And you can see in the top table that of the 1.2 million customers reviewed as part of this project, about 135,000 or 11 percent of the customers ended up needing to be reclassified.

Of those 135, about 112,000 are moving to higher density rate classes, which would pay lower distribution rates and about 22-1/2 thousand will be moving to lower density rate classes, which pay higher distribution rates.

The two tables at the bottom of that slide provide details on the numbers being reclassified in each of those two groups.  You can see that the majority of the customers being reclassified to higher density are R2 customers moving to the R1 rate class.  And the last column in that bottom table shows that there will be an impact of about a 10 percent reduction on their total bill as a result of that reclassification.

And, as well, there are also about 40,000 R1 customers that are moving to the UR rate class, and those customers will see about a 14 percent reduction on their total bill.

Over on the other side, details of the 22,500 customers moving to lower density rate classes, and, again, the breakout is there and you can see that the majority of the customers moving to lower density rate classes are R1 customers, which is the residential rate class.

I'm sorry, I have been using the term R1, R2.  I assume people are familiar.  So that refers to our residential rate classes.

UR is the urban.  The residential rate class R1 is the medium density residential rate class, and R2 is the low density rate class.

MS. GIRVAN:  Why don't you have seasonal on this chart?

MR. ANDRE:  Because seasonal is not density based, so there is just a single density -- just a single class for them.

MS. GIRVAN:  Okay.

MR. ANDRE:  So we don't have two seasonal density classes.

Just to finish off, the customers moving to lower density, as I mentioned -- so there is about 5,700 urban customers that are being reclassified to the R1 rate class, and that will result in about an 11 percent increase on their total bill.

Moving on, in preparation for this application, as with many other aspects of our application, we've used various avenues for getting input from customers on aspects related to cost allocation and rate design.

Cost allocation and rate design topics were discussed at three stakeholder sessions associated with this specific application back in April, June and December of 2013.  That was one source of input.

Hydro One also engaged a company to carry out seven focus groups at four locations across the province, specifically with seasonal customers, and those focus groups were attended by 38 customers and cottager association representatives, so they were quite actively participated in.


As the manager of distribution rates, I am also quite often called on by our customer care group to provide some input in responding to customer questions related to rates, and that participation certainly gives me a good sense of the day-to-day issues that customers are facing.


And then finally it is not up on the slide, but in preparing for this appearance today, I recall that customer and intervenor groups' feedback from previous applications.  So, you know, we've heard from customers in previous applications, and so some of that feedback that we got from previous applications are also incorporated into some of the proposals that we have put forward here.

So with regards to customer class changes with seasonal, taking into consideration cost causality principles and also taking into account the feedback received at the stakeholder sessions and the focus groups, Hydro One is proposing to make some changes to the seasonal class.


Our proposal is to move about 11,000 seasonal customers with consumption patterns similar to year-round residential customers, moving those 11,000 to the appropriate residential rate classes.


So Hydro One is proposing that those seasonal customers consuming more than 800 kilowatt-hours per month on average across the whole year and at least 600 kilowatt-hours in at least ten months of the year, that those seasonal customers be moved to either the R1 or R2 rate class, as appropriate.


These numbers are based on a review of the consumption of Hydro One's year-round residential customers, the 800 and 600 kilowatt-hour figures, and the 800 kilowatt-hour figure is also the value that's consistent with the average consumption assumed by the OEB for residential customers.

So those are the changes on seasonal customer class.


We are also proposing a new unmetered scattered load rate class, currently USL, which is the short form for unmetered scattered load.  Currently USL customers are billed as general service energy unmetered customers.  We have a separate rate schedule for them.


But in part due to the feedback from USL customers in prior applications, where they have been long arguing that they would like to see a separate rate class for USL, and also in response to the Board's report on review of the cost allocation where they directed utilities to create a USL class unless they had strong reasons not to -- so those were two of the sort of inputs that led us to decide that we would also be creating a USL rate class for this application.


Next slide is from a cost allocation perspective.  So our application is using the OEB's cost allocation model issued in August of 2013, modified, of course, to suit Hydro One's particular circumstances with respect to our ST class and our density-based rate classes.


We have made a number of updates and improvements to the inputs used in the cost allocation model.  Those changes or improvements are all documented in the prefiled evidence.  You can find it at Exhibit G-1, tab 3, schedule 1.  And I have highlighted three of the key improvements here on this slide.


One is we have updated the rate class load profiles, based on our 2012 customer smart meter data.


We have incorporated the density factors within the model to reflect the findings of the density study that was submitted as part of our 2013 IRM application.


And then, finally, we have updated the minimum system factors used in the cost allocation model in response to direction from the Board in our last cost of service application.

So those are three of the changes, but as I said, they're all documented, all of the changes are documented in Exhibit G-1, tab 3, schedule 1.

So in this application -- next slide, ten -- we're proposing to adjust the revenue-to-cost ratios that fall out of the cost allocation model.


So this slide has a table that shows the results of our 2015 cost allocation model run.  You can see in the second column there, "Revenue," shows the revenues collected by rate class.  The next column over shows the costs allocated to each rate class by the model.  And then the fourth column shows the revenue-to-cost ratio that results.

So Hydro One's proposal in 2015 is to move any revenue-to-cost ratios that are outside the Board-approved ranges, to move those revenue-to-cost ratios to within the range specified by the Board.

And Hydro One proposes that any revenue requirement decreases for those classes whose revenue-to-cost ratios need to be lowered -- in other words, some revenue needs to be moved out of those classes -- will be made up by those classes with the lowest revenue-to-cost ratios.


So if you look in the second-last column in that table, what you see there is the movement in the revenues from certain rate classes; their revenues are dropping, and it is being distributed across the other rate classes based on the room available from their revenue-to-cost ratios.


And the last column is the important one.  It shows the impact across the various rate classes of doing this revenue-to-cost ratio adjustment in 2015.


So this is 2015.  For the years 2016 to 2019, Hydro One's proposal is to make further adjustments to the revenue-to-cost ratios so that all rate classes gradually move to revenue-to-cost ratio of between 0.98 and 1.02 over the remaining four years of the application.


On the rate design front, Hydro One's planning to revise our fixed charges or the fixed charges that customers pay, to align in most cases to the minimum system-based charges calculated by the cost allocation model.


So as you can see from the table, for most rate classes this will mean an increase in the share of revenues collected via fixed charges as compared to the status quo.


So the table shows the current revenue to fixed variable split and the proposed fixed variable split, and what that actually means in terms of monthly fixed charges for all of those classes.

And then, finally, the last slide before I turn it over to Mr. But, this highlights some of the other rates-related items that are covered in our application.


So there are some new riders we're proposing in this many application to recover the deferral and variance accounts that are requested, as well as new riders associated with smoothing the requirement over the five-year period.

There is -- we will be updating the retail transmission service rates to reflect the approved 2014 transmission rates, because that hadn't been updated in a while -- well, hadn't been updated since the 2013 IRM.

We will be taking on some bill impact mitigation, to make sure that we keep the total bill impacts to within 10 percent for rate classes.  And we will be doing some special mitigation for those customers impacted by the rate class review, so specific to those customers impacted by the rate class review.  If their impacts are more than 15 percent on total bill, then we will be applying a credit to those customers to limit their impact to 15 percent.

Then finally, our application includes, obviously, the miscellaneous charges, and all of those miscellaneous charges have been reviewed and updated to reflect the cost of providing services in years '15 through '19.


MR. ROGERS:  Thank you.


Mr. But, can you carry on, please?
Presentation by Mr. But:

MR. BUT:  Yes.  In our last rate proceeding, EB-2009-0096, the Board directed Hydro One to track the dollar value of variances between the Board-approved losses recovered in rates and the actual losses starting January 1st, 2010.


The Board also directed Hydro One to bring this analysis in our next application.  So here we are today starting with the technical conference number 3.

Hydro One engaged Navigant through a competitive process to undertake this line loss study.


The consultant used two methods to assess the line loss variances.  The first method used the hourly meter data for more than 1.2 million customers that we obtained data from the IESO.  The second method used the detailed billing data from our customer information system.

Detailed analysis prepared by the consultant showed that over the three-year periods for 2010 to 2012, Hydro One over-collected the line losses by about 388 gigawatt-hours.


Hydro One accepted the analysis prepared by the consultant and has recorded half-a million dollars in the RSVA, which stands for the retail service variance account for power 1588, account 1588, for 2010 to 2012.


The consultant also undertook detailed engineering analysis to assess the line loss amount various rate classes.  Hydro One accepted the recommendation from the consultant changing the line loss factors for certain rate classes in this rate application.


Details of the proposed changes are provided in Exhibit G1, tab 8, schedule 1, and the detailed consultant report is filed as Exhibit G1, tab 8, schedule 2.


MR. ROGERS:  Thank you.  That completes the overview.  Jennifer, we should probably give an exhibit number to the slide presentation.


MS. LEA:  Yes, thank you.  That will be Exhibit No. TC for technical conference, TC3.1, please.

EXHIBIT NO. TC3.1:  SLIDE PRESENTATION


MR. ROGERS:  Thank you.


MS. LEA:  Peter Thompson, I don't know whether you have been listening in previously to these technical conferences, but we just sort of jump in.  So don't be shy about bringing forward any questions you have.  We don't go in any particular order, necessarily, although Board Staff usually starts, but other people interject with questions that come to mind.


Most of the questions, from Board Staff's perspective, today will be asked by Harold these.  I do have one very general question relating to your rate riders, so I will ask -- I will begin with that.
Questions by Ms. Lea:


You have proposed in your application a rate rider to accomplish the smoothing that we have heard about through the three technical conferences.


I was wondering, what would happen or what would you propose to do about smoothing, and would you still propose a rate rider, were the Board were to approve your application only for some period less than five years?  As I understand the rate rider, it presumes a five-year approval.


What would happen if the Board were to approve some period less than five years for this application?


MR. ANDRE:  So the rider is calculated based on the revenue amounts that need to shift between years as provided to us by our finance group.  I would imagine that is part of preparing the draft rate order.


If the Board directed us to -- for some other period, I assume that our finance group would rework the amounts that would be required, and then I would, in turn, reflect those in the rider calculation.


MS. LEA:  Okay.  So if we wanted to find out, for example, at what point that -- if it was for two years or if it was for three years or it was for four, we can ask an interrogatory asking for that kind of calculation to find out when that rider would exceed a 10 percent impact, for example?


MR. ANDRE:  I mean, the 10 percent impact on bill is more so driven by the requirement, the changes in revenue-to-cost ratios that I talked about.


I mean, yes, obviously the rider would have some impact, as well.  That process of calculating that amount and updating the rider, we would have to go through the whole mechanics of doing the calculation.  So I would imagine it would be a timing issue in terms of whether we could run that through the cost allocation model.


But, you know, a rider is something that can be more easily handled than changes to the cost allocation model.


So provided that our finance group would be able to do that calculation, I assume that I could then turn around the rider, yes.


MS. LEA:  Okay.  I don't want to pursue this too much further, but just so that I understand how best we might phrase a question if we wanted such a question made, I don't want to force the company to go through all kinds of calculations.


Perhaps I am not making it simple enough.  Assuming all -- assuming that your cost allocation proposals were accepted, and so on and so forth, and the only real change was the Board wanted to see you back in three years, would it be possible to then understand how you would deal with the large increase in 2015 to smooth it over a three-year period instead of over a five-year period?


MR. ANDRE:  Yes.  I would imagine that our finance group certainly would be able to redo that calculation over a three-year period, and then I could, in turn, reflect that in the bill impacts.


MS. LEA:  Okay, thanks.  So that was my one general question.  Harold has some questions on various topic areas, unless anybody else wants to begin.

Questions by Ms. Girvan:


MS. GIRVAN:  Could I just ask one question of clarification on your presentation?


MR. ANDRE:  Mm-hm.


MS. GIRVAN:  If you look at slide 10, which is the impacts of the changes in the revenue-to-cost ratios, the percent change, does that take into consideration the increases in 2015 over 2014, or is that just the result of changing the revenue-to-cost ratio?


MR. ANDRE:  Yes, Julie, the latter.  It is just the result of changing the revenue-to-cost ratio.


MS. GIRVAN:  So, for example, you take something like, okay seasonal customers, 5 percent change, it's a 5 percent increase as a result of the change in revenue-to-cost ratio, but in addition to that, there is another increase related to your change in rates related to your change in cost?


MR. ANDRE:  Right, right.


MS. GIRVAN:  Okay.  Thanks, sorry.


MR. COPES:  Are you taking comments on Henry's....  Are you taking comments now on Henry's presentation?


MS. LEA:  Yes, certainly.  If you have something, that's fine, yes.

Questions by Mr. Copes:


MR. COPES:  The Balsam Lake Coalition is opposed to the proposal to move high-volume seasonal customers to the residential class, because we believe it would exacerbate the existing problem, which is that seasonal customers are already overpaying and basically this would just make it worse.


And we believe that the fairest model for residential customers, including year-round customers and seasonal customers, is to eliminate the seasonal class and merge it with the residential class.


We believe that all residential customer rates should be based upon density, as recommended by the density study which was completed at great expense ordered by the Board, and I don't understand why you are ignoring the recommendations of the density study.  And we don't believe that rates should be based upon irrelevant criteria, such as:  Does a person own two homes, or how many nights did they sleep in their cottage, or what is the address on their driver's licence?


We believe this is irrelevant to the business that Hydro One is in, which is delivering electricity.


We acknowledge that there may be a problem moving some customers to the R2 zone.  However, I think we could deal with that problem after we know all of the numbers.  That's my comments on --


MS. LEA:  Does the Panel wish to comment with respect to that?


MR. HURLEY:  Could I just ask you, where do you see the fairness in this whole classification system as an individual and a cottage owner?  I just don't see any fairness in this.  Where is the fairness in this whole classification system?


MR. ANDRE:  The classification of the rate classes and the assignment of costs to those rate classes follows the Board's cost allocation model, which is tied to cost causality.


So the seasonal class has certain consumption patterns that drive a certain amount of our costs, and those costs that are associated with serving seasonal customers are then, in turn, recovered from the customers in that class.


So the tie is to the Board's cost allocation model, which is tied to principles, well-accepted principles, on what drives costs and how different customer classes drive the costs that a utility has in serving them.

Questions by Mr. Thompson:


MR. THOMPSON:  So what is it about seasonal customers that attracts so much costs?


MR. ANDRE:  Mr. Thompson, it is not so much about -- so, if you look at the details of the cost allocation model, it is not so much about the costs that they attract.  The costs that the seasonal class attracts are not dissimilar than the costs attracted by other rate classes.


The issue comes when it is time to calculate the rates.  So you have that same pot of money, but for seasonal customers the load over which you can spread those costs to be recovered, because seasonal customers have, as a class, such low consumption, and yet that low consumption still needs to recover that pot of money that the Board's model or the cost allocation model says needs to be recovered from them, it leads to higher rates.


MR. THOMPSON:  So are there a lot of fixed costs in the allocation?  I see your point.  If the load is low and there are a lot of fixed costs allocated to both seasonal and residential, then seasonal are likely to be higher rates.


MR. ANDRE:  That's exactly right.  And, yes, a lot of the costs -- I mean, you know, both the number of customers, which drive fixed costs, and then there are also costs tied to the actual demand.


But, you know, rough ballpark figures, I would say about half of the costs are tied to the number of customers, and then half of the costs are tied to the peak demands of that class.  Not the consumption, but the peak demands.


So those are the two principal allocators in the cost allocation model.

MR. THOMPSON:  Is that clear from the studies you are referring to?  That fixed costs -- in other words, if they were turned off, they would still have to pay the costs on a cost allocation basis?

MR. ANDRE:  Yes.  Absolutely.  And it is that, that notion that whether they're turned off or consuming just one light bulb, that is what is referred to as the minimum system within the cost allocation model, and it is what drives the -- it's what drives the fixed charge.


So if you look at the fixed charge proposals in our application, they're very much tied to those minimum system costs that are independent of whether you are using no electricity or just a light bulb.  That is what is tied to that minimum system charge, Mr. Thompson.

MR. THOMPSON:  Thanks.  That may help the seasonal guys.  I don't know.

MS. LEA:  Please go ahead when you're ready.

Questions by Mr. McGee:


MR. McGEE:  Yes.  Henry, I have a question regarding the revenue-to-cost ratio slide, which you probably have in front of you.


And I am quite familiar with the seasonal, previous seasonal numbers, and these come as a huge surprise to me.  Previously the seasonal classes paid about $100 million per year in costs.   Now all of a sudden it has dropped to 87 million.


Is this a direct result of the removal of the 11,000 high-use customers?


And the other part of the question is that the allocated costs that come out of the 2013 cost allocation model have greatly increased the costs allocated to the seasonal class.  It used to be that we had a revenue-to-cost ratio of 1.2, that was -- that is, we were paying 20 percent more than we should have been.  Now all of a sudden it has dropped to 90 percent in one fell swoop.


So, you know, there's two questions here.  How come the revenue dropped so drastically?  And how come the costs increased so drastically?

MR. ANDRE:  So, John, the -- let's look at the revenue side of it first.  And you are absolutely right; you got it.


Those 11,000 customers that are moving, they represent about 7 percent of the customers, but from a revenue perspective they represent 21 percent of the revenue.


So those 7 percent of customers moving over -- which take their 7 percent of costs, if you will, over with them -- also take 21 percent of the revenue.


So the drop that you are seeing for the seasonal class revenue coming in is directly related to the high-volume seasonal customers moving over.

And then the increase in costs, I mean the -- so the increase in costs that you see here reflect the -- primarily the 2015, our requested 2015 revenue requirement.


So you remember this is before the smoothing rider.  So this is done based on the revenue requirement that is being requested by the company, and there is a significant jump in the 2015 revenue requirement.


So you are seeing the costs.  Not just seasonal; if you looked across all of the other revenue classes, you would see a significant jump in costs.


But in terms of why the revenue-to-cost ratio went from a higher value -- and I haven't seen the 1.2 figure you mentioned, but I agree they were certainly well above 1 before.  And now they're moving to 0.9, and that is largely attributable to the movement of those 11,000 high-volume seasonal customers.


MR. McGEE:  That is about $30 million, by the way, which is not chump change.  So it is a very significant hit on the seasonal class.


And I can tell you that FOCA is adamantly opposed to this proposal to remove 11,000 of the high-use customers from the class.

MS. GIRVAN:  What is the connection between 11,000 and -- you have in your evidence -- 7 million?  You say:

"The impact of the proposed seasonal customer change is a drop of $7 million in revenue."

MR. ANDRE:  Right.  So that --


MS. GIRVAN:  Those 11,000 customers bring in $7 million in revenue?

MR. ANDRE:  No.  The difference -- those 11,000 paying seasonal rates versus those 11,000 paying R1 and R2 rates, the difference between the revenue collected is the 7 million.

MR. POCH:  I have a question about the distributed generation.


First of all, is that just large D GEN or is that also the microGEN, microFIT stuff?

MR. ANDRE:  No.  That is just the larger D GEN; it is not microFIT.


MR. POCH:  I am not familiar with the cost allocation application model and how it -- the minutiae of it, but how have you accounted for the fact that these –- distributed generation can lower your line losses by offsetting current flows?

MR. ANDRE:  So, David, these chargers are associated with, are application to D GEN customers when they take load.  So we don't charge D GEN customers for supplying load into the system.  These charges are associated with when they take load.


So the impact on losses is not a factor in terms of determining the charges that they pay for delivery of load to them.

MR. POCH:  Okay.

MS. GIRVAN:  I have another question, Henry, sorry, just about the seasonal again.


So I understand you went through this, you did some customer focus groups, and I think it says that you talked to 38 people from different cottage associations.


And when you put out your proposals, you had three options, and option 2 was moving high-consuming customers with residential light consumption into residential class, and you got 20 votes.


So that's why you have decided to go with that option?

MR. ANDRE:  No.  Certainly not just based on that alone.  Absolutely not.  That was -- I mean, we sought input, as I mentioned initially, from -- on these proposal at the stakeholder sessions, which included, you know, the broad range of intervenors we have.

At those sessions it was thought that it might be beneficial to get further input, and we talked about how we're going to get additional input on the seasonal.  And the proposal was that we would hold some focus groups with seasonal customers, specifically to get their input, because as John says, I mean, he's been -- FOCA has been very clear right from the get-go that their view is that, you know, these changes shouldn't be made.


We wanted to get a broad perspective from all seasonal customers.  So the focus group was one source of input.


But more importantly, Julie, it is the cost causality.  I mean, aligning with cost causality principles is what is -- I would say is driving this change.


If you look at those customers, they consume like year-round residential customers.  So to have them -- and when you look at the rate classes in general, rate classes are tied to people or groups with like consumption.


So this particular 11,000, given their average annual consumption and given that over six months of the year they're heavy users, their consumption looks very much like that of residential customers.


So from a cost causality perspective, it seems more appropriate that they be charged residential-type rates.
Questions by Mr. Garner:


MR. GARNER:  Can I follow up on that question?  It's Mark Garner with VECC.


In moving the 11,000 customers, I understand what you're saying about the cost causality and consumption, but the other issue, of course, in rate classification is  how you classify the people into the rate class.


I am looking -- and after the gentleman twigged me to looking at your classification system, it is based on a number of questions that the customer in essence volunteers to do and undertake, and represent, for instance, their occupancy in the place.


So for these 11,000 customers, where I am a little confused is they were in the seasonal class and presumably they represented themselves to meet the current classifications that you have right here, right?

MR. ANDRE:  Yes.


MR. GARNER:  So how, by that, are they, then, moved out of that classification if they're meeting the criteria you have posted for people to meet seasonal?

MR. ANDRE:  Right.  So the rate schedule -- so if you look in the proposed rate schedules, what you would see under the seasonal class is you would see those requirements tied to, you know, their current property and residence.


And then there will be another clause that says that over and above the requirements that are listed above, if your consumption pattern is of this type -- meaning, you know 800 kilowatts per month on average over the 12 and the 600 -- then you may be seasonal based on the above requirements, but if your consumption pattern is such, then we will move you to the residential class.


MR. GARNER:  I understand.  You're going to add another classification clause.


MR. ANDRE:  Yes.


MR. GARNER:  But again, one of the principles in ratemaking is certainly cost causality, but the other, as the gentlemen have pointed out, is fairness.


So a customer, therefore, who also doesn't meet the load classification because they're a snow bird and they leave for six months of the year, they also have a low load profile and presumably the same cost causality problem as to yourself.


So I guess the question one would ask is:  If you are going to address that to seasonal customers, why don't you address that to all of your customers in the sense that if you fall into a low load profile, you must basically pay a premium because you are not recovering your cost, because you are picking certain people, as I understand, not particularly based on their location?


It is not that their residence is on a lake or it is off a lake.  It is a matter of the consumption that you are trying to address.


So how did you address that fairness issue?  I mean, I presume there is plenty of customers in Hydro One's area, retirees who leave the country for six months of the year, and then come back.  They wouldn't meet any of these criteria, in the sense of consumption.


MR. ANDRE:  Yes.  I understand your point.  And certainly another of the criteria used in ratemaking is the notion of simplicity and understandability, and you could continually subdivide the classes to say there are certain segments within a particular class whose patterns are slightly different than the class as a whole, and you could create new classes for all of these sub-segments.  And I think we have to try to draw a balance between creating enough subdivision between classes that you are capturing cost causality to a large extent.


But is it perfect?  No, you are absolutely right, it isn't perfect.


MR. GARNER:   Where I am going, Henry, and maybe an answer to this question, it is kind of a technical question which I am trying to understand here, which is you seem to be able to have identified 11,000 customers simply on their load consumption and created, in a sense, a classification for them.


In fact, you are reclassifying them back into another class, but you have kind of identified them as a class.  That sounds like you have the capability of actually creating classes by their load profiles.  Is that right, because isn't that what you are doing with these customers?


MR. ANDRE:  I agree that's what we're doing with these customers, but I don't know that creating classes simply based on load profile would be the right way to go.


With respect to seasonal, we are trying to be responsive to the input that we heard from seasonal customers.  Certainly we'd heard it loud and clear from the Balsam Lake Coalition, and we have heard it loud and clear from a lot of the customers that I mentioned that I am involved with our customer care group dealing with individual customer complaints.


Certainly there are a lot of customer complaints related to the high seasonal charges.  The fact that they're high seasonal charges, I just explained before it has to do with the cost of that group and the consumption of that group.  So we're trying to deal with the complaints from both sides of seasonal.


The other very common complaint we hear from seasonal customers is those seasonal customers who don't use their cottage in the winter period.  And they will say, Well, I just got a three-month bill and I am being charged $60 for delivery and I didn't get anything delivered.


So we've got the really low-consuming seasonal customers identifying issues for us.  We have the high-consuming customers identifying issues for us.  This proposal is an attempt to try to balance those two issues that we're hearing about.


MR. GARNER:  And I understand, and of course my clients neither generally have cottages nor are able to take long vacations, and they just want to see people pay their costs of the system.


So I understand.  It just seemed to me that you were -- you could identify classes inside your system that is -- it is an unusual way to approach it.  In fact, that seems to be what you have done with the 11,000 customers, is approached it in that load profile way.  But that is helpful.  Thanks, Henry.
Questions by Mr. Copes:

MR. COPES:  I have a follow-up question to Mark's question there.


He mentioned that there is snow birds, which would be a seasonal class, inside the year-round residential class, and there is also people, single occupants, who have low consumption, and this is going to be one of our interrogatory questions.


But do you know now how many people in the year-round residential class have less than 500 kilowatt-hour consumption per month?  Do you have an idea?


MR. ANDRE:  No, sorry, I don't have that information.  I don't know.  No, I don't have that.


MR. McGEE:  Just to follow along from this question, I am sure there are many thousands of residents in Toronto who live in highrise condos who vacate them in the winter time to head off down for six months to Florida and have a consumption pattern probably very similar to the seasonal.


So here you have a class that isn't recognized by the OEB, and yet the same load characteristics occur in the big cities and they don't have that class.  So there is a disconnect here somewhere.  Maybe it is historical.  I don't know.


MR. ANDRE:  As I say, we're trying to balance the feedback that we have heard, and we will leave it in the Board's hands in terms of hearing what we're proposing and the reasons why we're proposing what we have and intervenor arguments, and we will wait for the Board's decision on that.
Questions by Mr. Thompson:

MR. THOMPSON:  It's Peter Thompson.  Did you look at the option of having the entire seasonal class absorbed in one of -- the R2 class?


MR. ANDRE:  No, Mr. Thompson, we haven't, you know, in part because we have had the seasonal class -- it's been around certainly since the '70s.  The oldest rate schedule I have seen is 1970s, and they have been around since that time.  But, more importantly, it goes back to Mark's point that if you absorbed a lot of these low-volume consumers into those residential classes, what it would mean is the remaining customers within those residential classes would really take up the brunt of paying for the costs of the assets required to serve seasonal customers.


So we didn't want to -- we don't see that as a feasible option.

Questions by Mr. Hurley:

MR. HURLEY:  I understand that the hearing at which I was approved to be an intervenor has not been scheduled yet; is that correct?


MS. LEA:  Yes, that's right.  This is a kind of preliminary stage where we get an opportunity to ask Hydro One questions so that we understand what their position is, at least.  We can ask further questions in writing in the interrogatory stage, and then also in the oral hearing portion.


MR. HURLEY:  Yes.  I just wanted a little guidance here as to what questions I can ask or what recommendations I might make.


MS. LEA:  Mm-hm.  Well, today, if you have questions, it is a good time to bring them forward, unless they require a lot of calculation or a written answer.


In terms of what recommendations you can make, that comes at a later stage, in general.  The other option is to say, something like:  I would propose, Mr. Andre, that this happen; what is your response to that?


So that is the kind of question you could also ask today, should you choose to do so, but you will have two more opportunities in writing and orally.


MR. HURLEY:  The question I wanted to ask is one of our four the cottages is the family cottage.  They got a bill just a month or so ago for $785, and when my cousin Nick, who looks after everything, called to find out what it was, they said it was estimated.


Well, all these cottages are on smart meters.  Why would they give us an estimated bill, when they can tell right from the source what the billing is?  And they're all turned off.


MR. ANDRE:  Yeah, I think dealing with specific billing issues, Ms. Lea, goes beyond what I am able to answer here today.


MS. LEA:  That's true.  Specific billing issues for a customer can't be answered here today, but I am happy to talk to you about it in the break and find a way to get that question answered for you.


MR. HURLEY:  Okay, that's fine.


MS. LEA:  Thanks.


MR. ROGERS:  I have the same question for Mr. Andre at my place I want to get an answer to.

[Laughter]

MS. LEA:  Thanks very much.  I am a seasonal customer in the very, very low consumption class, so, yeah...

[Laughter]

MS. LEA:  Other questions on --
Questions by Mr. Garner:

MR. GARNER:  I just want to follow up that question in a general way.  Are smart metered customers of Hydro One -- they continue to give estimated bills in Hydro One's service territory?


MR. ANDRE:  My understanding is to the extent that they are communicating.  So, you know, I know we have had some smart meters that have had issues communicating, but to the extent they're communicating, my understanding is yes.  Stan, do you have --


MR. BUT:  I believe that is correct.  To the extent that there is no problem in the communications, that will be used.


MR. GARNER:  So, Stan, are you saying the policy of the company is to implement all the smart meters and have them communicate, but there are particular instances where some just aren't set up and need to be set up or just not functioning, or is it the policy of the company for some smart meters not to be utilized?  That is my question.


MR. McGEE:  I think I can add something here.  I happen to be one of the customers that was affected by that billing debacle that Hydro One got itself into.


My smart meter stopped working, and yet I kept on getting estimated bills even though it said, We read your meter.


This is a whole different issue, which I think this is being dealt with by the Ombudsman, provincial Ombudsman, as opposed to the OEB.  And I am not sure -- it may have an impact on Hydro One's current rate application, but I believe it is being dealt with in a separate forum.


MR. ROGERS:  I can also say that I am instructed that the policy panel that we're going to produce, I think next week, will address this issue.


MR. McGEE:  But I have just one more question for Henry, and that is regarding the eligibility of the 11,000 customers that end up in the R2 class for rural and remote rate protection.


I think it is the opinion of Hydro One that they are, but I am not sure that the government or the OEB would support the payment of RRRP to seasonal customers.  I just don't know.


It's a legal question, really, that has to be looked into by the lawyers for both the OEB and the government, I believe, and not just the opinion of Hydro One.


MR. ANDRE:  Sure.  Our position was that because their consumption -- when you read the regulation it does talk about year-round residential customers in the regulation on RRRP.


Our position was that these customers, you know, given that they're there for ten months of the year, consuming 600 kilowatt-hours, that they look, smell like a year-round residential customer from a consumption standpoint.


And that is why our proposal was that they pay RRRP, but, John, I take your point.  I think there may be further opinions on both sides as to whether there is any legal issue there, but that was our going-in position.


MR. HURLEY:  I have a question that I think is within the realm that you outlined here.


Have you given any consideration to a 20 percent discount for those of us who are stuck with forced-air electric furnaces?


Now, the reason I raise this issue, it doesn't just pertain to cottagers.  I live in a condominium in Oakville. I am a director and vice president.  There's 410 units.


And there is no alternative; there is no way we can convert these units to gas.  We have many seniors living there, and some of them got bills in January for 600, $700 for the one month.


And I think that it behooves you to take some kind of a look at those of us who are stuck with forced-air electric furnaces and have no alternative.


MR. ANDRE:  That sounds like sort of a policy issue, and really the -- that's beyond my scope of what I was here to refer or to speak to.


I understand your point.  I am not aware of any plans right now to do that, but to me that really is a policy issue that I think somebody else should speak to.


MR. COPES:  I have a question about something that happened at a stakeholder session held in June of last year in response to a question from Julie about doing the math about eliminating the seasonal class customers.  And there was a follow-up question from another gentleman who asked whether it would be a problem to evaluate the numbers with respect to eliminating this class.


And I understand that it was agreed by Hydro One to do the study, evaluating what the numbers would be to eliminate the seasonal class.


Has that study been done?


MR. ANDRE:  So I don't recollect the agreement to do that study.  I can tell you that we have not looked at eliminating the seasonal class and merging it to the two residential classes.


MR. COPES:  It is on the public record.  It is Bob Betts asked Henry if it is a problem to evaluate the effects of eliminating the seasonal class customers, to provide intervenors with all of the information they feel they will need to sort this question out.


Hydro One agreed to do the math associated with eliminating the seasonal class customers; that is on the last page of the transcript of that.


MR. ANDRE:  Okay.  Well, I can tell you that we haven't.  It is not to say that -- I think that is something -- given that we made that commitment, I think that is something that we can certainly take under strong consideration, you know, going forward.


The biggest challenge I can see is coming up with a load profile for a combined class that includes both seasonal and residential, Stan.  I would imagine that would be the biggest challenge.


But if it is doing the math and coming up with some ballpark, estimated figures -- not something that is run through the cost allocation model -- I suppose that that is something that could be done.


And all I can commit to now is that we will take into consideration whether that is something that can be done in time for our update.


If not, then it might have to be something that you take up as part of an interrogatory.


MR. COPES:  That would be much appreciated.
Questions by Mr. Thompson:

MR. THOMPSON:  Could I just ask one question before we leave this seasonal discussion?


As I understand it, there are two things going on here.  One is you're taking 11,000 people out of the class and that's having an impact on the people left, so the 110,000 left, something in that order of magnitude.


Then that causes a significant change in the revenue-to-cost ratios, so you hit them again with a revenue-to-cost ratio adjustment to their bills.


So what is the impact on the 140-some-odd that are left?  Like, what is the average?  What is the worst case scenario?  Are these very large percentage impacts?


MR. ANDRE:  So, Peter, certainly the impacts for high- and low-volume customers in all the rate classes are provided as part of our evidence on the rate impact exhibit.  So we can turn to that.


But the range of impacts are provided there.  And just to clarify, that the -- you said they're hit again as a result of the revenue-to-cost ratio adjustments.  They are only, the revenue-to-cost ratio for the seasonal class as a result of these 11 moving out -- these 11,000 moving out -- is still 0.9.


So if we did not make any further adjustments to the revenue-to-cost ratios, we actually wouldn't need to change the rates of the remaining customers within the seasonal class.  So even though these 11,000 moved out, the rates would not have to be adjusted because the revenue-to-cost ratio is within the Board-approved range.


They need to go up as a result of the rebalancing of the revenue-to-cost ratio.  So some of the rate classes that have higher revenue-to-cost ratios, like the R1 and the R2 rate class, in order to make up for the revenue that we deduct from those classes, those rate classes that are below, that have lower ratios, are the ones that are seeing the impact.


So their rates, seasonal rates wouldn't have to be adjusted as a result of moving the 11,000.  They're being adjusted as a result of our proposals on the revenue-to-cost ratio adjustments.


MR. THOMPSON:  I misunderstood that.  Thanks very much.


These big bills that people are talking about, that is based on the current regime?


MR. ANDRE:  Yes, that's correct.


MR. THOMPSON:  Okay.  Thank you.
Questions by Ms. Girvan:

MS. GIRVAN:  It is also the fact that you have large fixed charges?  That is why the bills are big?


MR. ANDRE:  Actually, Julie, so you will have a segment of seasonal that will say that is why their bills are large.


In fact, the complaints from the high-volume seasonal customers is the opposite.  It is because the fixed charge is so low.  I know for the low-volume customers it seems high, but if you look at the variable charge for seasonal customers, it is much, much higher than that of a residential customer.


So it is the high-volume customers that are seeing that, so it is the reverse of what you said.
Questions by Mr. Hurley:

MR. HURLEY:  I would like to go on record as saying that I just believe that this customer classification system is unfair.  And I would just like to go on record as saying that.


The other question I have for you:  Have you ever given any consideration to cut your operating costs by, let's say, 10 percent?  In any business, any company, you can cut it by 10 percent and no one feels the difference.


MR. ANDRE:  Yeah, I wasn't here at the previous panel.  We did have a panel that spoke to our operating and capital costs, so I am not -- I know we -- I can say this.


As a company, and given the impacts that we are seeing here, a lot of focus was put on making sure that we reduced all of the costs wherever we could, because we recognize that the impacts are large.


So in preparing this application, any number of productivity improvements and efficiencies were sought out to try to reduce those costs as much as possible.


MR. HURLEY:  I think today many companies are concentrating on employees and the number of employees.


I had to visit your place up in Markham.  I don't know how many employees you have there, but it seemed to me there were an awful lot of people.


And my question, I guess, is:  With smart meters and other ways of getting the information you need, it just seems to me that that's a good way to go, is to take a hard look at your personnel and your operating costs.  And, as I said before, I have been in business in broadcasting for over 50 years and you can cut 10 percent and nobody knows the difference.


MR. ROGERS:  Well, I just observe you are not the first to suggest this, sir, and I can tell you I have done a number of cases and in every case there is very, very stringent scrutiny placed on Hydro One's costs and their head count.


So your point is well taken and I can assure you this Board takes it seriously, and it will be glanced at again in this proceeding.


MS. LEA:  Yes, I can confirm that.  That's going to be a big issue for us, for all of us, sir.


I would like to wrap up this discussion of seasonal matters, unless there are any further questions.  I do have one.
Questions by Mr. Copes:

MR. COPES:  Yes.  I have some comments about the focus groups.


A colleague and I attended two of the seven sessions held last summer by the CitizenOptimum Group and we were not overly impressed by the process employed by this company, not because of anything the gentleman said.  He was very competent and very amiable, but because the process appeared to us to be very narrowly focussed and heavily slanted toward the predetermined outcome that Hydro One expected.


Why do I say that?  Okay.  Firstly, the educational part of the group session and the presentation materials that were presented were almost an exact word-for-word replica of what Henry presented at the June 26th last year stakeholder session.


In other words, the graphs, the information, all of the figures and everything was almost an exact replication.  It is -- and basically he presented -- at that stakeholder session, he presented four options, and those were the only four options that were considered at the focus group sessions.


In other words, several attendees wanted to discuss different models, including myself, about actually eliminating the seasonal class.  This was not on the table.  This was not something that could be discussed.


And so our opinion was that this was not a session to discover what would be a reasonable and fair and equitable rate schedule for seasonal customers.  Basically, it was a process to come up with what Hydro One wanted to hear.


So my question is this.  When is Hydro One going to do a proper study, as they agreed at the settlement conference last year?


MR. ANDRE:  Sorry, I missed the very last sentence.


MR. COPES:  When are you going to do a proper study, as you agreed at the settlement conference to do, for evaluating a reasonable, fair and equitable rate design for seasonal customers?  Because we don't believe that the process that was employed was fair and equitable at all.

MR. ANDRE:  So my comment is I would disagree strongly with you in terms of the outcome of that focus group or the intent of that focus group.


The intent was always to solicit opinions.  The slides on education, the reason they're similar to what I presented at the June session is because we worked with the consultant to at least get the education part right, because it was known that the participants may not have a level of understanding of rate structure and rate design.


So the objective was to try to give them a base education on rate structure, cost allocation, and then, given that base understanding, to provide their input on what might be a fair rate design.


So I would go to the executive summary of the focus group report and, you know, the goals of the project, and I will read them out:

"Gather regionally and demographically diverse views.  Ensure participants were sufficiently educated on ratemaking and the current rate structure to provide meaningful feedback.  Gather participant opinions on fair rate designs for seasonal ratepayers, and then solicit and present options to existing seasonal rate structure and provide Hydro One with qualitative feedback."


So that third item, gather participant opinion on fair rate designs for seasonal ratepayers, I can't speak to the individual session that you attended, obviously, but certainly the instruction was to get opinions and feedback on what they might consider a fair rate design.


Given that we knew that these sessions, it is always tricky sometimes to get feedback, the idea of presenting some possible options for discussion was put out there in order to generate some feedback that might otherwise not come.


But I would disagree with you that, you know, the intent wasn't to solicit feedback.  It was exactly that.  And as I have said before, we put a proposal for seasonal customers that we think balances all of the feedback we heard and balances the Board's commitment to ratemaking principles, and in particular cost causality.


MR. GARNER:  Henry, I have a question about the seasonal customer, just the 11,000, for a minute.  Sorry.


Sorry, I am going to go back to it just because something dawned on me while you were talking about this.


Those 11,000 customers still meet all of the residency criteria that you have for seasonal customers.  They just happen to be high load; correct?  That is what you found out?


MR. ANDRE:  Yes.


MR. GARNER:  So now I am trying to imagine who are these 11,000 customers.  They're all basically customers who meet a cottager's profile, but just not a cottager's load.  So are you just taking out of this class, in essence, you know, cottagers who have better, nicer, more facilities and -- et cetera?  It seems to me they're still meeting all of the other criteria.


So, I mean, to put it in the vernacular, is it all of the rich customers leaving the seasonal and moving into a different class because they have a different load profile?  That is what it all really amounts to, because they're still seasonal customers, aren't they?  They are still only there four days -- whatever that criteria is, you have to be four days or something, whatever it was, you know.


MR. ANDRE:  The fact that they're consuming 600 kilowatt-hours per month for ten months of the year suggests -- I am not sure if they can reach that level of consumption just being there four months of the year.  Clearly they're not there just four months of the year, because for ten months of the year they've fairly high consumption.


We didn't look into the specifics of these customers.  We simply applied that -- you know, did an analysis of the smart meter data and found that these were customers that are consuming, for ten months of the year, an amount that is not unlike year-round residential.


MR. GARNER:  But otherwise meet all of the criteria of a seasonal customer?


MR. ANDRE:  They were currently classified as seasonal customers, yes.


MR. GARNER:  All right.

MR. COPES:  Going back to the focus groups, what we discussed previously, what Hydro One agreed to at the settlement conference last year was to identify options which could include changes in rate design classifications or otherwise.


There was only four options given, and several options that were viable options, in my opinion, were never on the table, were never able to be discussed or voted on.  So how could that be a fair process?


MR. ANDRE:  The focus groups were about gathering input.  They were not the options.


The option that we're proposing is what is in our evidence.  The focus group was about gathering input.


MR. COPES:  The only options identified were the options that you favoured.  They were not options that the ratepayers wanted to see discussed.


MR. ANDRE:  Let's be clear, Mr. Copes.  We don't favour -- Hydro One, we don't favour any particular option.  Okay?  We believe that the cost allocation model fairly allocates costs to the seasonal class.


And how we get, you know, the rates that are applicable to that seasonal customer class, whether it is made up of more or less customers, it is a zero-sum game for us as a company.  So Hydro One does not favour any particular option.


We're trying to put together an option that responds to the feedback that we've heard, plain and simple.


MR. COPES:  I understand --
Questions by Mr. Ted Cowan:

MR. TED COWAN:  May I provide some numbers here that may move us to the chase slightly?


As is, the average payment by a seasonal customer is $513, given from these tables.  The average payment by an R2 customer is $1,510 per year from that table, within plus or minus five dollars a year.  The average of the total, if you were to combine the two, is 1,250.


So the seasonal customer who joined the R2 group would then pay $1,250 instead of $513, assuming they were treated equally and the annual costs were adjusted so that that was the outcome, and the R2 customer would fall by roughly $260.


Now, I don't know whether these cottagers are arguing for a two-and-a-half-fold increase in their rates or just what.  But it is not clear to me that this is necessarily time well spent for me as a cottager or for me as a farmer.


The 11,000 who get to join the other rate, if they are truly like the other rate group in their consumption pattern, that is fine by us.  They are moving here to a closer revenue-to-cost ratio allocation in 2015 to be smoothed out.  That's probably going to work for people.

But the idea that people will automatically get lower fixed costs if they join the new rate group, that's not absolutely clear, that farmers and low-density rural residential people would accept that instantly.  They might ask for much higher fixed costs for everybody.  And they might get it, given that there are 335,000 of them, and 143,000; it is more than 38 in either group.


But that is all we have to say about this right now.  We are quite happy to accept the information and not argue it at this point.  This isn't --


MR. ROGERS:  Can I say just, too, as counsel to the company, I understand this is an unfamiliar process for people.  The purpose of the -- of this technical conference is to ask questions of the company, to understand aspects of their application that you don't understand.


And everybody will be given a full opportunity to put forward your own proposals, your own criticisms, and question the witnesses when they're in the oral part of the hearing about why they did certain things if you don't agree with it.


But we need to move forward today to get through this.  I would ask people to try and think of questions to help you understand what the application is, and especially in the case of this area.


Hydro One is neutral.  I mean, you may not agree with them, sir.  I can understand that.  You're not the first person who hasn't agreed with the way they allocated rates and set rates up, but their revenues are the same.


So they are sort of the honest broker here, and they're willing to listen to you, but there will be a time for that later in the hearing, in the arguments.
Questions by Mr. Poch:

MR. POCH:  Can I just ask them before we leave this seasonal rates topic -- and I don't want to get into the general discussion of the shift towards fixed charge yet.  I am sure we will get to that today.


But given what is on the horizon from the Board, which is a move towards decoupling, towards all of your costs getting collected in the fixed charge -- however that is collected, and that's an interesting debate -- won't you then be in the position that basically you will have fixed charge and density, and at that point the distinctions between these rate classes start to fall away?

MR. ANDRE:  We're in early days with respect to the Board's report on proposed changes, and it is unclear how that will end up.


But my understanding of the proposal is that the rate classes, the costs assigned to each rate classes, the allocation of costs really wouldn't change.  It is once you have identified how much it costs to serve a particular class, then those costs are recovered under the first option via fixed charges.


So I don't know that it would necessarily move -- you know, result in any changes to the rate classes, because you still want to have appropriately allocated costs to each of the rate classes.


MR. POCH:  No, I understand, but it seems to me that the complaint that I am hearing from seasonal customers is they've got this, some of them, the low-use customers are getting this big fixed bill to recover their costs.


MR. ANDRE:  That will go away.


MR. POCH:  Well, that won't go away, in fact.  They will all get a large fixed bill.

MR. ANDRE:  Well, not necessarily.  I mean, the high-volume customers would probably get a smaller bill under the -- a single fixed charge proposal, and the low-volume customers would get a considerably higher bill under a low fixed charge proposal.


MR. POCH:  We're going to end up going around the block on this again.


MR. ANDRE:  In that forum, I would imagine, yeah.

MR. POCH:  All right.  Thank you.
Questions by Sustainable Infrastructure Alliance:

MS. LEA:  Thank you very much.


One of the questions that we received by e-mail yesterday was from the Sustainable Infrastructure Alliance, and they asked more or less the same question that David just did.


Would this initiative by the Board give you an opportunity to amalgamate and simplify your rate classes, if, in fact, we moved towards a higher fixed charge for all classes?

MR. ANDRE:  Ms. Lea, so that is exactly the question that I just answered.  My view would be that the rate classes would stay as they are, because you still need to determine how much it costs you to serve a particular rate class; it is just the recovery of those rates through rate design would be much simplified.


But I wouldn't see any significant changes to the cost allocation.


Then the other question I guess you would ask -- I assume it is going to come up at some point -- is what happens if the Board makes a decision on this report at some point through our application?

I would imagine that when the Board does reach a decision on this, there will be other utilities, not just ourselves, who will be in the middle of some multi-year application.  Our view is that we would be in front of the Board on an annual basis in any case, to adjust for costs of capital and any other adjustments that might be there.


So we would see it as an opportunity to make any changes that the Board directs utilities to do.  We would expect the Board to give some direction on what utilities in the middle of a multi-year application would do, but certainly the opportunity would be there for us to respond to the Board direction if it was required.

MS. LEA:  Thank you.
Questions by Mr. Garner:

MR. GARNER:  Can I follow up?  Are the costs for the classes -- I take your point about what you're saying, but are the costs for the classes seasonal, and R1, are they particularly different?  I thought they were the same type of density things -- or does seasonal have a particular different cost structure for its service than, let's say, the lowest-density class?

MR. ANDRE:  Cost structure?  I mean, they have the allocators that the Board model used, that is tied to -- that's tied to demand.

From a density factor perspective, the seasonal density factor is -- we talk about its derivation in the evidence, but it is somewhere between the R1 and R2 because seasonal customers are a blend of the two.  So their density factor takes that into account.


MR. GARNER:  Thanks.


MS. LEA:  Thank you.


So let's move on to another topic.  Harold, I think, has some questions.
Questions by Mr. Thiessen:

MR. THIESSEN:  Okay.  I think I have a couple of questions actually just on this table that is on the screen at the moment, on page 10.


And the first question is -- it has to do with the significant change in revenue from rates for the UR class and the R1 class.


I am wondering whether you can tell us exactly why there was such an imbalance that had built up over the last few years to require such a change in revenue from the classes.

MR. ANDRE:  So, Harold, the revenues from the classes reflect the load forecast that Mr. But provided.  So it will reflect the number of UR customers with the rate class review taken into account.


So the number of customers in those classes will have changed considerably from, like, the 2010 cost allocation model.  I am not sure what you are using as a base against which to measure it.


MR. THIESSEN:  I am more interested in why the revenue-to-cost ratios previously are so much different than the target for 2015.  Like, how did that imbalance develop, if I can call that an imbalance?


MR. ANDRE:  The revenues reflect the approved 2014 rates.  And then as you may know, Harold, the way the model works is it takes the revenues that you get at 2014 rates, and then escalates them evenly across all classes to line up with the revenue requirement that you are asking for in '15.


So because the model automatically spreads that increase in revenue requirement across all classes, if you had a class that was over-paying before, now when you do an even split of the revenue requirement it will be over-paying by that much.


So it is really, the change in revenue is really part of the mechanics of how the cost allocation model works, because it spreads that increase uniformly across all classes.


MR. THIESSEN:  Okay.  Thank you.


Also as part of this presentation, you mentioned that with your new GIS system, you added a layer for changing classes, or some sort of a tool for the density zones.


MR. ANDRE:  Right.  Right.


MR. THIESSEN:  Could you explain that a bit more clearly, what that tool is and what it does?


MR. ANDRE:  Sure.  "Tool" may be a big word.  Really what it is, is as part of the rate class review, we identified the boundaries around each of our urban areas, our medium-density, small town areas.  And we actually drew a physical boundary, as described in the evidence, to align with roads that are nearby or physical features, something that could be relatively easily explained to customers.  And we drew those boundaries, and now we have a layer within GIS that has all of those boundaries.


So what that means is our field technicians, if they're asked -- you know, if a new customer comes in and they no longer have to go into the field and, you know, pull out maps and do their calculations to come up with what rate class they should be in, they can just simply superimpose that layer on the -- and compare that to the location of the customer based on their smart meter location and know whether that customer is in a defined density zone or not.


So the tool is really that density zone layer that will now be used by our field staff to identify what the proper classification is for customers.


MR. THIESSEN:  So I assume, for instance, if there is a subdivision in a certain part of Ontario and a number of homes are added to that subdivision or it is extended, then your GIS system would pick that up and eventually note that that will drive a change in the classification of that -- of customers in that subdivision; is that how it works?


MR. ANDRE:  Yes, partially.  I mean, the GIS -- certainly the field technician would see that, would see that here is a density zone and it's got this community, and now there is a new set of homes being built.  Let's say it is just on the outside of those boundaries.


Now, because we built the boundaries out to roads, there is a little bit of room for growth within the density zone boundaries, but let's say that there is growth outside the density zone boundaries.  The field technician would have to manually intervene to say, Oh, yes, this was an R1 zone and, really, these customers are contiguous with the customers that are there and, therefore, the boundary should be extended.


Our plan was to revisit -- as I said in my presentation, to revisit those boundaries every five years across the province, but where you have individual density zones that are significantly impacted by, you know, some kind of development immediately adjacent to the existing density zones, then we would look at updating that density zone boundary to incorporate those kinds of significant developments.


MR. THIESSEN:  But if you'd made those changes that you just described within the five-year period, how would that affect this application in terms of the five-year rates you are asking for?


MR. ANDRE:  Certainly that is an issue, Harold.  To the extent that that happens, we would have assumed that those customers were within one rate class.


And if that development simply changes the boundary, but doesn't change the definition of those customers -- so let's say it was an R1 area, you now just have a slightly bigger R1 area, but it is still R1 -- then there would be no impact on rates.


If the addition of that development meant that it went from an R1 area to a UR area, you now have to go and say that all of those customers are going to be paying the lower UR rates.


It will have a revenue impact, and I guess it would be to the extent that that revenue impact falls outside of -- I would imagine there's limits as to the impact on our net income that would trigger some need to review.


As long as it didn't trigger that need to review, I would imagine we would just have to absorb the revenue loss.


MR. THIESSEN:  You would stick with the plan, but you would ensure that the customers that are in a class that has now changed definition and changed the rates that they face, that would be done on an annual basis or...

MR. ANDRE:  Well, I mean, we haven't sort of laid out that implementation.  We're in the process of updating our processes to reflect the availability of this density zone layer.  So that is a detail that I don't have right now, but the intent is certainly they would change to the new rate class.


We wouldn't wait for the end of the five years to change it.


MR. THIESSEN:  Then assuming you got a five-year order from the Board, rate order from the Board that -- after that five-year period, then you would come and update the evidence that has changed, the classifications, customer numbers that have changed by class in your next application five years down the road?


MR. ANDRE:  Correct, correct.


MR. THIESSEN:  All right.
Questions by Mr. Rubenstein:

MR. RUBENSTEIN:  Sorry, just following up on that so I understand, with respect to new additions within the five years.  So if a new subdivision is built and originally that area on your GIS system, that would be a -- would be an R rate class, R1 or R2 or whatever.


MR. ANDRE:  Okay.


MR. RUBENSTEIN:  But because of those new additions, if you were reclassifying it, it would be a U, be an urban, because of the new density.


My understanding is the maps won't change, but someone will manually give them or potentially give them urban rates, these new additions.  Is that what I understood from the discussion you were just having?


MR. ANDRE:  Right.  I don't know about the maps.  I mean, as I said, we're not working --


MR. RUBENSTEIN:  The boundaries aren't changing.


MR. ANDRE:  It depends.  I mean, if this new development was outside the boundaries, we may redraw the boundary.


But your point more is, if that changed the actual density zone classification from, let's say, a medium density to a high density, then, yes, we would update the classification of the customers in that either same density zone boundary or revised density zone boundary if it turns out that development was actually on the edge.


But, as I said, we have drawn boundaries, especially in the urban areas, that allows some room for growth.  So we don't anticipate having to do that.  We think every five years reviewing it will capture most of those situations.


But if there were specific circumstances of a significant development that would impact the density zones, then we would look at updating the density zones.


MR. RUBENSTEIN:  So you would update not just the new additions, the new customers, but also the existing customers that would be in that area that would now turn -- their density would change?


MR. ANDRE:  Yes, yes, that is the plan.


MR. RUBENSTEIN:  And your discussion sort of made it sort of seem like it would -- I want to put this properly.  It is sort of at the discretion -- there was some sort of discretion of how it would be done or if it would be done.


MR. ANDRE:  I guess the discretion is around -- I mean, our plan would be to review it province wide every five years, and our view is that the boundaries have been drawn in such a way that not every single new home -- I mean, there aren't many places in the province where you have, you know, 100 homes being developed.


I mean, these developments tend to grow over time, and we only trigger a change in density zone when customers actually start to live there.


So the reason it may have sounded that way is because our intent would be, for significant developments, we would do that, but we wouldn't be intending to review every year every single density zone boundary.  That would be reviewed every five years.


MR. RUBENSTEIN:  All right.  Thank you.


MS. LEA:  Thanks.  I think it is probably time for a break, if not over time for a break.

The clock on the wall there reads five past 11:00.  I propose we reconvene when that clock reads 20 past 11:00.  So 15 minutes, please.

--- Recess taken at 11:03 a.m.

--- On resuming at 11:22 a.m.

MS. LEA:  Okay, can we reconvene, please?

Ladies and gentlemen, we're about to reconvene and your mics will be on and you will be broadcast to the ether.  Thanks very much.

Harold, are you -- sorry, David?


MR. POCH:  I was just going to ask if Bill Marcus is on the line yet.

MS. LEA:  Peter Thompson, are you on the line?

MR. THOMPSON:  Yes, I'm here.

MS. LEA:  Okay.  Bill Marcus, are you on the line?  Not yet.

Okay.  So Harold still has some questions, but folks...  Is that Bill Marcus?


MR. MARCUS:  Yes, it is.


MS. LEA:  There we are.  Welcome.  We are just reconvening at this time.
Questions by Mr. Poch:

MR. POCH:  I was just going to -- just before Harold recommences, not to stop Harold from recommencing, I was just asking if it is possible if we could move to the next topic, if we could move to the fixed charge issue, just because that is what Mr. Marcus from California is joining us for, and probably the only reason I am staying.


But go ahead, Harold.

MS. LEA:  We have no problem if you want to start with that, David, because we're here all day.  So why don't you fire away?


MR. POCH:  Thanks.  Well, let me start.  And I am sure Bill may have some questions.  Let me just state our concern.


You are proposing –- and this is in the materials that we're e-mailed out.  This is, I guess, page 11.  You are proposing some pretty significant changes to the fixed charge, and I understand that that's the general policy push from the Board, is to move more towards fixed charge recovery because your costs are largely fixed.  And so I had a couple of questions.


One, this is a five-year proposal.  I heard you earlier say if changes happen because of general Board rule changes or policy changes, mid-term, you are going to be back every year for -- to clear your variance accounts and whatever.  You could deal with it then.


It seems to me, though, if we move to some form of decoupling with a hundred percent fixed charge, which could be collected based on connection size, it could be collected based on coincident peak, could be collected on -- annually you could change people, quarterly, monthly.  There's, you know -- you're talking a very dramatic change in your rate structure, are you not?


MR. ANDRE:  Yes, potentially, potentially.  Which is why I said, David, I would expect the Board to recognize that they would have a number of utilities that would be sort of in our situation, and in their decision provide some kind of direction on that front.


MR. POCH:  I guess the question is the other -- not how difficult that will be, but why are you putting your customers through two changes, potentially, within a year or two of each other?  This is a pretty dramatic change.  I am assuming you are going to have a lot of customer pushback.  Tell me if I am right about that.


I mean, when you start -- customers are very sensitive to the fixed charge.  I know my neighbours are always asking me out -- my low-use neighbours are saying:  I didn't use any power and they're still charging me.  That said, I don't know if I -- does that reflect reality, I mean, that you would expect this change is going to lead to a lot of work for your customer service group?

MR. ANDRE:  I would hope that a lot of these issues would come out during the proceeding, and that Hydro One would be providing its comments on what it sees as potential issues if any of these options are adopted.


I can certainly speak anecdotally as well, that when I deal with customer care issues, when I help our customer care folks deal with customer issues, certainly a lot of those are related to, you know, the amount of the fixed charge.


But I think there is a lot of issues associated with -- that need to be explored with the Board's proposal.
Questions by Ms. Girvan:

MS. GIRVAN:  Have you done, in terms of just your proposed fix charge increases, have you done any focus groups, customer surveys or anything in terms of customer reaction to that?

Because certainly my experience in the past -- let's say, for example, with the gas utilities -- is moving that dramatically in one year will definitely get a lot of adverse customer reaction.


I know in the past what the Board has done is phased things like this in.  So I am just asking you -– I guess my question, really, is:  Have you done any --


MR. ANDRE:  No, we didn't do any specific --


MS. GIRVAN:  Do you plan on doing anything?

MR. ANDRE:  Certainly there will be a communication plan associated with educating customers on what we are requesting in our application, and there will be an implementation plan associated with the changes that we anticipate as a result of this application.


So there would be communication at that stage, Julie, but any advanced, like, focus groups or that kind of stuff, no.  There wasn't any change.


And for the customer, Julie, you appreciate that for the average customer, of course, the balance between fixed and variable is a wash.  If there's more --


MS. GIRVAN:  I realize that.  I just know my experience has been, just as what David is saying, is that customers tend to focus on the fixed charge, and when it is increased significantly you will get adverse reaction.
Questions by Mr. Marcus:

MR. MARCUS:  And it isn't the average customer; it is the mean customer.  60 or 70 percent of customers get increases when you change the rate design between -- from variable to fixed.  And 30 or 40 get decreases.


So it is a wash, it is a mean level, but the actual majority of customers will see increases from this kind of a rate design, which I think needs to be factored into the customer care side of things.


You may be increasing rates to 60 or 70 percent of your customers, and even in a revenue-neutral situation.  And you've got a fairly large rate increase coming as well.
Questions by Mr. Poch:

MR. POCH:  There is a question there, I guess, buried in that, which is:  Do we have the numbers on how many, what proportion of customers are going to be facing increases and what proportion decreases as a result of that shift in each rate class?


MR. ANDRE:  What we have included in the evidence is the impact that a low-volume customer will see as compared to a high-volume customer, as a result of everything we've asked for in the application, including the shift in fixed and variable charges.
Questions by Mr. Marcus:

MR. MARCUS:  Do you have bill frequency data for the -- particularly for the residential rate classes, but also for the general service ones?

MR. ANDRE:  Bill frequency data?


MR. MARCUS:  In other words, how many customers used between, say, 500 and 750 per month?

MR. BUT:  To the extent that we have the smart meter data, for which we have a lot, 1.2 million customers now, a lot of the analysis can be done but we haven't had a chance to do it yet.


But as Hydro One participate in the proceeding and as more information becomes available with respect to the information, that, I would assume, we will be doing analysis to see different scenarios regarding what customers will be more affected.

MR. MARCUS:  But I am just asking for basic data on how many customers fall within usage blocks, which is something that probably 90 percent of utilities I have worked with have that data fairly easily available, at least monthly.  They may not have it annually, but...


So that is almost a building block, and I am just trying to make sure that you've got that building block.

MR. BUT:  We have that information in terms of customer consumptions, yes.  We are using that information and analysis can be done.


MR. MARCUS:  Okay.  Okay.
Questions by Mr. Poch:

MR. POCH:  I have another question related to this, which is:  For example, in your urban residential rate class, there is quite a shift from 61 percent volumetric to 41 percent volumetric.  Has a study opinion done to accompany this about what the impact -- this is a custom rate application now.  I assume you're just using the Board's standard cost of capital Rules.  It seems to me that this is a more significant change in risk profile.


Has any analysis been done for this rate application of that, the effect of cost of capital?

MR. ANDRE:  Not that I am aware of.  Although, David, I know that you highlighted the UR and the significant change in the UR.


I can tell you that on a bottom-line basis across all of the rate classes, currently it is about a 39 percent fixed, 61 percent volumetric.


And our proposals move that to 42 percent fixed and 58 percent volumetric.  So on a bottom-line basis there isn't that kind of a dramatic change.
Questions by Mr. Marcus:

MR. MARCUS:  But that seems to mask differences between residential and non-residential classes.  And -- when I look at these numbers.


You've got some of the non-residential classes actually moving to less volumetric rates, which suggests to me maybe the relative rate of return in the revenue-to-cost ratio should be lower for residential because of the shift in opposite directions in the two classes.


And, you know, have you thought about differential revenue-to-cost ratios for the different classes because of this change in risk profile?


MR. ANDRE:  As I said, risk profile is not my area of expertise.


I can say that you talked about the return associated with individual classes.  The risk in the overall return is on our overall requirement, and then that gets allocated across the rate classes per the Board model.


So there is no specific risk-related return associated with an individual rate class that we work out.


MR. MARCUS:  Okay.  Can I ask a question about your urban rate, whether you have done any analyses of the difference to serve single family homes versus apartments?


MR. ANDRE:  Not that I'm aware of.  Stan, you?


MR. BUT:  We haven't done that kind of analysis.


MS. LEA:  I think the answer was no.


MR. MARCUS:  Okay.


MS. GIRVAN:  But different costs, is that the question?


MR. MARCUS:  Yes, because an apartment is going to have transformers serving many more customers, shorter service lines, those types of things.


MR. ANDRE:  No.  We follow the Board's cost allocation model.  We do take into account density differences between our R1, R2 and UR classes, but within a UR class we don't differentiate between apartment dwellers and non-apartment dwellers.  So no is my answer.

Questions by Mr. Thompson:

MR. THOMPSON:  Can I ask a question about page 11 in the presentation this morning, along the lines of these fixed charges?


In the current 2014 rates, just taking UR as an example, you are showing fixed charges of 35 percent -- 39 percent of the total bill; is that right?  What was that number?


MR. ANDRE:  Yes, 39 percent of the total revenue collected from the UR class.


MR. THOMPSON:  Okay.  And volumetric, 61.  And when we were talking about allocated costs this morning, I thought you said that they're roughly 50/50, i.e., 50 percent fixed costs, and then 50 percent which are presumably commodity-related or what I would call commodity-related costs.


Is that the output of the cost study?  In other words, if everything was recovered on the basis of its classification in the cost study as fixed and variable, what would be the end state for UR?


MR. ANDRE:  So probably the closest to that, Peter, would be the 2015 proposal on fixed and volumetric.  So what we've done in 2015 is we're proposing to move the fixed charges to the values suggested by the cost allocation model as being associated with providing a minimum system level of service.


So in the last column, the $20.29 for UR is the value that the model calculates as being the costs associated with providing that minimum level of service.


When I was referring to the 50/50, I mean, that was just -- I said it was a ballpark number.  I was just off the top of my head thinking of what kinds of costs, how the costs are allocated.


And I know that a number of the costs are allocated based on customers and a number the costs are allocated based on demand, that was my reference to the 50/50 split, although it isn't actually that.  But it is the reference to what the allocators are in the model.


MR. THOMPSON:  Okay.  So just so that I can read that back to you, the 20.29 would be recovering -- would it be recovering 100 percent of the fixed costs in a fixed charge, roughly, for this customer class?


MR. ANDRE:  Yes, yes, I understand the question.  The 20.29 is what is the Board's cost -- what the cost allocation model which follows the Board principles would say are the costs associated with the minimum system.  So is that all of the fixed charges?


Certainly it's all of the customer charges and all of the costs associated with providing a minimum level of service.


I don't know if it would be fair to say those are all of the fixed costs, but they certainly are the costs associated with providing a minimum level of service.


MR. THOMPSON:  Okay.  So that to me was the sort of end state that you are striving for.


Just dropping down to ST where the current is 20.80; right?


MR. ANDRE:  Mm-hm.


MR. THOMPSON:  Twenty percent fixed, 80 percent volumetric, and then proposed 2015, 18 percent and 82 percent, which I thought would indicate to me that the fixed charge was going down.


But then in the last column, the fixed charge per month is going up significantly.  Can you help me understand that?


MR. ANDRE:  Peter, the revenues -- I can tell you that you are right in terms of the 20 percent to 18 percent means the revenues that come through from fixed-type charges are decreasing for the ST customer class.


As to why the numbers 294 and 453, I know for the ST class, the ST class, unlike the other classes, doesn't have -- like, a residential class has a single monthly fixed charge and a single variable charge.


As you know, Peter, the ST class has a number of different charges.  There isn't a single fixed or a single volumetric.  So it just may be that the number that we chose to reference in that last column may be what is causing the confusion, but I can tell you that in terms of the total revenue collected from fixed charges versus the total revenue collected from variable charges, what you are seeing in the percentages is the indicator of how much would come from those two components.


MR. MARCUS:  If you look at the slide before, there is a fairly large rate increase for the ST class, because it was below costs, according to your model.


MR. ANDRE:  Yes.


MR. POCH:  So does page 11 then incorporate both the shift between volumetric and fixed, and the proposed rate increase, unlike the previous table, which I thought was just about adjusting the revenue-to-cost ratio?


MR. ANDRE:  Yes, the previous table is -- what that is illustrating is the move in the shift in revenue, and then the table 11 is the end state that includes, you know, the increase in requirement and everything else.


MR. POCH:  Oh...


MS. GIRVAN:  I thought that is not what you told me earlier.


MR. POCH:  He was talking about the previous table.


MS. GIRVAN:  Oh...


MR. ANDRE:  So, Julie, the table that has the revenue-to-cost ratios, the percentages that you see in there are just the impact of adjusting the revenue-to-cost ratios.


MS. GIRVAN:  Yes.


MS. LEA:  Can I get just a clarification on the page number?  Remember the Board members will be reading the transcript and trying to fit it into the slide deck, so if we have a page number for what we have been terming the "previous table"...


MR. ANDRE:  So the table on slide 10 that shows the revenue-to-cost ratios, that shows the impact of making the revenue-to-cost ratio adjustments.


And then page 11 that has the fixed charges, that's the end state fixed charges for 2015, including all elements of the application.


MS. LEA:  Thank you.


MR. THOMPSON:  If I could just finish up on my point about the percentage breakdown in the 2015 on slide 11.


So taking ST and UGD as examples where I think manufacturers are likely served, UGD goes from 3 percent fixed to 7 percent fixed, which is more than a doubling, but am I right the 7 percent level is equivalent to everything that -- it is the minimum level you were talking about previously?


MR. ANDRE:  Correct, yes.  The 7 percent reflects moving the fixed charge to the proposed value in 2015 of 84.80.  So, yes, that does represent the minimum level.


MR. THOMPSON:  The same thing for ST.  Eighteen percent is that minimum level?


MR. ANDRE:  Correct.


MR. THOMPSON:  Okay, thanks.


MS. LEA:  David -- sorry, John, yes.  You have been waiting.
Questions by Mr. McGee:


MR. McGEE:  Yes, I had a question about the -- this relates to the fixed/variable split.

We have a room full of experts, I will say, that are quite familiar with this, but on the average -- on the bill for the first five classes that you have there, customers don't even know that there is a fixed charge.  It is all buried in the delivery charge.  So if you increase it, they don't even know that.

Now, prior to the simplified bill, we got a fixed charge, smart meter charge, volumetric charge and all of the rest, but that all disappeared.

Would you be prepared to unbundle your bill so that customers can know what's happening to them?  Or is this fixed by government regulation, the simplified bill?

It certainly is -- before the simplified bill, in my capacity with FOCA, I'd get all kind of complaints about fixed charges.  Once the simplified bill came along, never heard any more.

MR. ANDRE:  So you are absolutely right, John.  All they see is a delivery line item.  They don't see the underlying split.

MR. McGEE:  They have no idea what is in it.

MR. ANDRE:  The presentation of the bill is governed by Ontario government regulations.

So Hydro One's presentation of the bill is the same as all other utilities' and we are required to present it in that format, as the government dictates.

MR. McGEE:  So you can increase fixed charges all you want and most customers will never even notice?

MR. ANDRE:  The average or mean customer, yes, probably wouldn't notice.

MR. McGEE:  Something wrong with that.

[Laughter]

MR. THOMPSON:  You bet.

MR. POCH:  Our concern is -- let me just let people understand why we're coming at this -- is this trend towards wiping out the incentive for some customers to -- or lowering the incentive for customers to conserve.  That's our resistance to fixed charges, unless they're allocated based on some use factor as opposed to just a flat-out fixed charge.

With that in mind, have you looked at sort of the -- have you done any studies of the conservation impact of this, based on price elasticity and what have you?

MR. BUT:  Yes, David, the answer is no, we have not done any analysis.

I agree with you.  With the proposal, there will be potentially a lot of impacts.  For example, with -- depending on different responses from the customer in terms of their CDM savings, that would even affect the total resource cost test associated with the program and all that.

So we haven't had a chance even to look into that.

MS. GRICE:  I just wanted to clarify something regarding the ST class.

On table 4 of the evidence, which is at G-1, tab 4, schedule 1, page 6, it shows the minimum system with PLCC adjustment for the ST class as being $618.24.

Whereas the table we were looking at, the table on slide 10 -- or 11, if -- I just need to see that again.  It showed the fixed charge as 400 and something dollars.  So some adjustment has been made to -- I think, to the fixed charge.

MR. ROGERS:  Do you need to have that turned up for you gentlemen, to --


MR. ANDRE:  No.  I am looking at the table she is referring to.

You're right, Shelley, I do see the number.  I see that the proposed 2015 monthly fixed charge of 453 is what -- is what appears on the slide, but I do see the 618 value there.

So I think that is something that we would probably, if you asked that in an interrogatory, we would probably follow up on why that -- maybe there was an issue with the -- that table didn't get updated.  Certainly we will look at whether that table 4 needs to be updated for the purpose of the blue-page update, and so that we can explain that difference between the two.

But I see the difference that you are referring to.  We can follow up on that.

MS. GRICE:  Okay.  Great.  Thank you.

MR. RUBENSTEIN:  Sorry, just to follow up on that, is the table that Shelley was bringing you to the minimum system PLCC from the Board's model, the 02 output?  I think it is on the 02 sheet?

Because I understand you make an adjustment to that number.  My understanding from the evidence is Hydro One makes its own adjustment to the minimum system PLCC number.

MR. ANDRE:  The actual -- the actual PLCC value, yes, there is an adjustment in this application to the PLCC value, in response to Board direction at the last application, and in response to some input from VECC in their final argument.  So the Board asked us to look at the minimum system PLCC.

But that number, yes, gets factored into the Board's calculation of this, you know, scenario 3 number.  So the scenario 3 number, we don't make any adjustment to that.  That is a straight output of what comes out of the model.

We do have our own minimum system PLCC value, which is, you know, used by the model to do a number of calculations, but we don't make any adjustment to this value.

So you can see that, you know, for UR, that the proposed fixed charge, based on looking at the minimum system, is 20.29 out of the model, and we are proposing 20.29 as our fixed charge.  So we don't make any adjustments to that in most cases; there are a couple of classes where we do make adjustments, but in the majority of them it is straight use of the Board's -- the model's number.

MR. RUBENSTEIN:  But you do make an adjustment?  You just make it to one of the inputs?

MR. ANDRE:  Yes, that's right.  The minimum system, the PLCC number is adjusted, yes, as we describe in the application.
Questions by Mr. Theissen:


MR. THIESSEN:  On that subject, I had a question about that.  This is table 4, Exhibit G-1, tab 4, schedule 1, page 6 of 17.

Just on that topic, I notice for the seasonal class, their proposed monthly fixed charge is 26.78, and in the final column in the cost allocation model scenario 3, it indicates 51.54.

Could you just provide an explanation as to the difference between those two numbers, or why there is a difference?

MR. ANDRE:  Yes.  So the seasonal class is one of the classes where what we're proposing for the fixed charge is a value that will recover -- so if I take you back to the table that has the percentage splits, so that would be, what, slide -- that slide there, which is slide 11, I guess, slide 11 on our presentation.

So if you look at seasonal, the percentage split for fixed is 52 percent.  Do you see that figure?

That 52 percent is the average between what an R1 customer pays as fixed and what an R2 customer pays as fixed.  It is the average between those two.

And the reason we chose to go with, for seasonal, having them pay the average of the R1 and R2 is because, as you can see going back to table 4 now, their current charge is $19.71.

And if we move straight to the minimum PLCC suggested value of $51, we saw that as a, you know, a -- well, almost tripling of the fixed charge.  And because of the concerns that we've heard from seasonal customers in our, you know, focus groups and stakeholder sessions and through other means, we thought that that would be -- you know, we were trying to mitigate the impacts of moving the fixed charge on seasonal customers.

So that is why we chose not to go all of the way to the value recommended by the model.  We picked and in-between value between R1 and R2.

MR. THIESSEN:  And that is just sort of a policy choice on your part, or a strategic choice?


MR. ANDRE:  It is a -- taking the customer, the impact on customers into consideration, and recognizing the impact that -- or the input that we have received from seasonal customers.

MR. THIESSEN:  Similarly for the R2 class, I guess?

MR. ANDRE:  Yes.  For the R2 class, the -- what we've done is -- again, going back to slide 11 -- you can see that for the R2 class, what we've done is maintained the fixed/volumetric split that they have now.  The 56 percent is sort of in the range of what the other residential classes pay.  It is what they have been paying for a while.

It is below the -- before we started our harmonization back in 2008, the R2 class used to pay 71 percent fixed.

So we didn't want to move to a value that would lower that.  And if we adopted the Board's value for R2, it would have lowered the fixed charge.

So again, our proposal there was to maintain a level that customers in the R2 class are currently used to.

MR. THIESSEN:  Thank you.
Questions by Mr. Ted Cowan:


MR. TED COWAN:  One question, if I may, going back to the cost allocation by class.  Is that allocation done using the same type of differential analysis as was used to assign line losses by class?  Or was some other method used?

MR. ANDRE:  The allocating of the costs by class in the cost allocation model, Ted, is -- depending on the costs there are different allocators, but the majority of the costs are allocated either based on number of customers or peak demand.  So there is that differential analysis used for losses.  You're referring to the losses study?

MR. TED COWAN:  Yes.

MR. ANDRE:  Yes, no.  The basis for allocating of costs follows the Board's cost allocation model.

MR. TED COWAN:  The basis of allocating not the line-losses costs, but the monthly --

MR. ANDRE:  The cost of providing services.

MR. TED COWAN:  -- volumetric charges?

MR. ANDRE:  Yeah, we don't allocate losses.  Losses is -- the cost of losses is something that is -- they're over and above --

MR. TED COWAN:  They are allocated by class using the differential analysis that Navigant suggests?

MR. ANDRE:  Yes, we do have different loss factors by class, yes.

MR. TED COWAN:  And I was simply asking, is the same form of analysis used to allocate the other costs?  Or is it a simple model that you have?

MR. ANDRE:  The best analogy, Ted, is that there is -- the density study that was done for 2013 IRM does allocate some costs between the density-based classes, so it does shift costs from UR, R1, R2, and between the urban general service and non-urban general service.  It does have a shifting of costs.

So there is a factor in the Board's model that we have added to recognize density.  But is it the same as the differential analysis used for loss factors?  I don't believe so.

MR. TED COWAN:  Mathematics are very similar in the two studies.

MR. ANDRE:  You will recall the density study had two approaches, right?  One was a differential, and then the other one was actually looking at the costs for serving sample areas.

MR. TED COWAN:  Right.

MR. ANDRE:  And I believe the differential analysis was used to sort of say, are we getting the results that we expect from the -- looking at the sample area?  But in the end the density factors were based on the relative costs of serving high-sample areas, medium-sample areas, and low-sample areas.

MR. TED COWAN:  I feel somewhat more informed.  Thank you.
Questions by Mr. Rubenstein:


MR. RUBENSTEIN:  You don't need to turn this up, but in the distribution and total bill impact for rate-class sheet in the evidence, you know, for demand -- for the GS demand customer, for the demand customers the rate increases, you know, over the years of, you know, 22 percent in 2015 roughly, 9 percent in 2016, 12-and-a-half percent in 2017, you know, and above 10 percent every single year for the distribution.  I just want to make sure I understand where this is all coming from.

So obviously there is an increase in the revenue requirement as it is allocated to the different classes.

The second thing is there's a move to the -- there's a move of the fixed/variable split to the minimum system number.  There is a cost allocation adjustment to move the revenue-to-cost ratios to make sure everybody is in the range.  This is the move to the minimum of 94.

And then, I mean, obviously there is an increase in the revenue requirement and that depending on the assets that will allocate differently to different classes.  Then the last is, I assume, a change in the model itself since the last time the model would have been run.  Is there anything else -- so first question:  Is there anything else of those categories that I am missing?

MR. ANDRE:  No, I think you have accurately captured the categories that are contributing, yes.

MR. RUBENSTEIN:  So my first question:  With respect to the increase in the revenue requirement, as is allocated to the different classes.  Can you just speak generally about the assets that you are investing in or you already -- I guess already have and are now making its way into rate base.  That would seem to me to disproportionately attract to demand customers.

MR. ANDRE:  So the inputs on assets that are used by the cost allocation model come out of our financial reporting systems.  They're the same data that is reported on a US-of-A basis to the OEB annually.   So the -- we are -- I am a taker of that information by US of A.  So by US of A it's, you know, it's identifying the various assets, and then each rate class uses a certain amount of assets within a particular US of A category.   But in terms of why the dollars would have shifted between fixed-asset accounts?  I'm a taker of that information.  I wouldn't be able to comment on those changes.

MR. RUBENSTEIN:  Sure.  Then the second question would be the change in the model itself.  Can you just speak generally about the change in the model from, I guess, the 2009 application until the new model?

MR. ANDRE:  Sure.  Maybe just to refresh my memory I will just go to -- I am going to Exhibit G1-3-1, where we talk about what's been updated in the model.   So there's direct costs.  So we have updated some of the direct costs in the model.  We've updated the allocation of administrative and general costs.   The miscellaneous revenues now are updated, per the Board's requirements coming out of their March 31st, 2011 review.  The PLCC we talked about, Mark.  That's been updated.

Density factors, per the density study that was approved by the Board as part of the 2013 application, those have been rolled into within the model.  In 2013 you may recollect we made a bottom-line adjustment to the cost to reflect the density study, and what we committed to as part of the cost-of-service application was to roll those density factors to within the model, as opposed to simply making a bottom-line adjustment.  So that's been done.

The Board model has a number of weighting factors, like billing and collecting, and services.  So we have made those changes.  And then the inputs, the inputs on load forecast, the inputs on fixed assets by US of A, and the inputs on OM&A by US of A.  All of those -- well, I guess those are inputs.  You were asking about changes to the model, which was that first set of factors that I talk about.

MR. RUBENSTEIN:  Yeah.  Okay.  Thank you very much.  That is helpful.
Questions by Ms. Grice:


MS. GRICE:  I just have one follow-up question to the discussion with Mark regarding the weighting factors and the changes that have been made to billing and collecting and services.  And I just -- you have mentioned first for particularly the ST class and other classes that you've relied on the default values.   And I just wondered if you could just talk about the change from what's proposed in this application to what was run last time with the cost allocation model, if those weighting factors have changed because of the Board's update.

For example, some of the rate classes have a 7 for billing and collecting and others have 15.  I just wondered what they were last time, if they were 7 and 15 as well.

MR. ANDRE:  Yes, Shelley.  I believe we didn't make -- for the billing and collecting weighting factors, I believe those are the same -- subject to check, those are the same factors that were being used in the last model, and really, we met with our customer-care folks, discussed with them what these factors are used for, and the kind of services that they provide, and they generally agreed that these factors were still appropriate for Hydro One.

MS. GRICE:  Thank you.

MR. MARCUS:  Does Hydro One -- and I may be, you know, one step back from a document here.  But does Hydro One take into account that certain of its major accounts are served by dedicated customer-service representatives when doing the weighting for customer accounting and billing?

MR. ANDRE:  Yes.  Actually, we do take that into account.  And the weighting factors take that into account partially, but more significantly, that is taken into account as part of the direct allocation that I referred to.

So in the evidence at Exhibit G1, tab 3, schedule 1, in section 2.2.1 we talk about the direct allocation, direct cost allocation, and the fact that there are some settlement-related costs for ST customers and actually demand-billed customers in general, and those are directly allocated.

So it is primarily taken care of there, as well as through the weighting factors.
Questions by Mr. Bishop:


MR. BISHOP:  I have a question about the slide on -- the table on slide 10 of your presentation.

MR. ANDRE:  Okay.

MR. BISHOP:  You mentioned that you want to bring revenue-to-cost ratios within Board ranges within 2015, and Board ranges generally, I believe, are 80:120 or 85:115.

Why are some revenue-to-cost ratios that are outside of Board ranges currently being brought not merely to the edge of Board ranges, but firmly within them?  I think urban general service demand energy bills would be a good example.  It is at 71.80 and it's moving to 94.

MR. ANDRE:  Right.  So the movement there is, if you look at the UR and R1, you see that those two at 1.30 and 1.23 are well outside the Board ranges, right?  So we moved those down to 1.15 for both of those classes.

MR. BISHOP:  Right?

MR. ANDRE:  And the second-last column shows that that movement to 1.15 between the two classes, if I do the math there, that is about 34.4 million in revenue that is coming off those classes.  That revenue gets distributed among the classes that are currently under-paying.

So yes, you are right.  Their starting point is within the Board range, but in order to move the UR and R1 to within the Board range we need to find a place to allocate those costs that are coming off those classes.  And our approach has been to add those costs to those classes that are farthest away from 1.

MR. BISHOP:  Okay.  And then why do you solve for UR and R1, primarily?

MR. ANDRE:  Because those are the ones that are outside the Board range.  Right?

The other ones, you're right, their starting point in some cases are already within the Board range.  So we want to -- if there were any below, we would make sure that we move them up to within the Board range as well.

MR. BISHOP:  And in terms of the target of moving the revenue-to-cost ratio to around 1 over five years, in some cases, you may have -- perhaps the answer you just gave explains it, but in some cases you appear to be moving towards 1 at a rate faster than would be required to get to 1 by 2019.

What's the reason for that?

MR. ANDRE:  I would have to see the specific reference, but the methodology we used was -- for example, at the end of '15 the UR would be at 1.15.

So we would divide that 0.15, divide it by 4, because we have four more years over which to bring that to 1.

And so our intent was to move those revenue-to-cost ratios evenly.  I would have to look at the specific reference that you are referring to as to why it isn't even, but the even movement is at the lowering to 1 and, again, making up any revenue deficiency as a result of lowering those that are higher from the rate classes that are lower.

MR. BISHOP:  Thanks.
Questions by Mr. Hurley:


MR. HURLEY:  It seems to me that you are shoving it in to cottage owners in the summer with higher rates, and then you are shoving it in to us again by having to pay the delivery charge in the winter.  It just seems like a double whammy that is unfair.

You know, higher seasonal rates, fine, but why charge for delivery in the winter when the cottages are all shut down?  I just don't understand that.

MR. ANDRE:  The fixed charge is -- in a way, spreading it out over 12 years -- or 12 months, rather.

[Laughter]

MR. ANDRE:  Mitigates that impact, right?  I mean, if we were to charge all of the costs to be recovered by -- for the seasonal class to just those periods when they were there consuming, the charges would be even that much higher; our rates would be that much higher.

The fixed charge is spread over 12 months to spread out the impact.
Questions by Mr. Poch:


MR. POCH:  I just asked a moment ago -- you were saying that you took the -- when you moved the revenue-to-cost ratios down for the ones that were quite high to 1.15, you took that lump of money and you allocated it to the classes which were under in the revenue-to-cost.

And I see that.  You're moving them up to 0.94 generally, except for sentinel lighting.  I am wondering why that one didn't get moved up to 0.94.

MR. ANDRE:  It's for sentinel lighting and for D GEN, so if you look for D GEN, you'll see the --

MR. POCH:  D GEN, it would have been too much of a leap.  I can understand why you couldn't do that in one step, but sentinel lighting you just went from 0.84 to 0.87; the other steps are bigger then -- or similar or larger than that?

MR. ANDRE:  Yes.  So if -- let me just find the exhibit and then I can take you there.

If you look at the -- in Exhibit G-1, tab 7, schedule 1, it is the bill impact summary.  And then table 1 has the bill impacts.

What you see for sentinel light is, if you look at the change in total bill in '15, '16, '17, we tried to smooth it out so that it would be, you know, around 10 percent in each of the years.

So if we -- it's already at 11.9 percent total bill impact in 2015, so really we couldn't move it that much more.

You can see that in the other years it is at 9, 9.5, 9.4.

MR. POCH:  So in other words, you mitigated the jump for them because of other impacts on their bill?

MR. ANDRE:  Exactly.

MR. POCH:  I would just invite, if I could, if anybody has any other questions on fixed/variable, I would encourage them to ask now, just because I know Bill is hanging there on the line in California for that topic.

Great.  I will cut Bill loose unless he has other questions.

MR. MARCUS:  I don't.  I think I have asked all the questions I am going to ask.  You will see a few interrogatories from me in a little while, but thank you.

MR. POCH:  Thank you, everybody.

MS. LEA:  Thank you.

[Mr. Marcus hangs up telephone]
Questions by Mr. Thiessen:


MR. THIESSEN:  I have a few more questions on customer classification, and that basically is Exhibit G-1, tab 2, schedule 1.

I have a general question about the overall density zones that you have, the UR, R1 and R2.

In this latest analysis that you did of these zones, did you ever consider changing the definitions of the density zones?

MR. ANDRE:  No.  The rate class review, the review refers to reviewing all of our customers to see how they -- you know, how they align with the classifications and to make sure that they're properly classified.

But the intent of the rate class review was never to revisit these zones.

These three zones were looked at, Harold, as part of the density study that was previously done, where they looked at the relative costs of serving a high-density, a medium-density and a low-density area.

That report also looked at whether the current break-out was reasonable, and the conclusion of that report is that those three -- that that delineation for those three groups is not inappropriate.  I believe that was the conclusion that they'd reached.

But as part of this study, absolutely, it wasn't to revisit those.

MR. THIESSEN:  Okay.  Thank you.  Another specific question that has to do with page 4 in the unmetered scattered load class.  There, you indicate that three cable companies provided site-specific information for their equipment to Hydro One for sample selection purposes.

And so when I saw that, I thought that -- is there a way that Hydro One looked at those suggestions from the cable companies to ensure that they were actually a representative sample and not sort of a biased sample?

MR. BUT:  Well, Harold, actually the sample selection was done by Hydro One; it was not done by the cable company.

The cable company provided the information, but it is the Hydro One staff who have done a random selection of the sites that we would like to monitor.

MR. THIESSEN:  Oh, so then I have misread that part of the evidence, I guess; is that... how I would characterize that?

Because I thought it indicated otherwise, but...

MR. ANDRE:  I would read it -- the sentence reads as:

"Three cable companies provided site-specific information of their equipment to Hydro One for sample selection purposes."

And I think Stan just clarified that the sample selection was done by --

MR. THIESSEN:  Was actually done by Hydro One?

MR. BUT:  By Hydro One, yes.

MR. THIESSEN:  Thank you.

MR. POCH:  I don't know who can answer my question.  I've lost track of how we're proceeding.  I had a question about line loss studies.  Is it right for timing?

MS. LEA:  I think we have quite a few folk that are going to want to ask questions about line losses, but perhaps we can finish other matters first, if that works.

The reason that I tried to keep it topic by topic is for the reader.

MR. POCH:  Understandable.

MS. LEA:  Particularly the Board members who are the ones that are going to make decisions on this.  So let's hold the line losses for a few minutes and we will come to them.

MR. POCH:  Thank you.

MR. THIESSEN:  I have a final question, and I am afraid it involves seasonal customers and the focus group.  But I was interested in -- at page 6 of that schedule 1, when Hydro One said while the most appreciate -- while most appreciated, this increased understanding, many said that being more informed made them more concerned and frustrated.  And I think that was from a report on the focus group.   And I was wondering whether you can make a comment on that.  Why were persons more concerned and frustrated after learning how their rates were determined?

[Laughter]

MR. ANDRE:  Isn't it always like that, Harold?

So this report was -- so that isn't Hydro One's statement.  That is the consultant that we engaged to do this work.

MR. THIESSEN:  Understood.

MR. ANDRE:  But I recall discussions with the consultants when they were preparing this report, and what they had indicated to me around this statement, because it caught my eye as well, was just that, you know, the focus group, as I mentioned before, went through a bit of an education just to bring everybody's knowledge level or try to bring everybody's knowledge level up a little bit so that they could provide informed input.   And what the two fellows that were running the focus group said that, you know, we explained cost allocation and how that works, what factors into cost allocation and how you get the pool of money, and then we went through the fixed and variable charges.   And what they said was, knowing now how cost allocation works, I guess you give them just enough knowledge to sort of whet their appetite, but it raises a question about, okay, well, what are the principles behind that?  You know, is it being done fairly?

And so, yes, they understand how you're doing it, but I think the level of concern and frustration comes around understanding the underlying principle.  They still don't understand necessarily the underlying principles behind it.   So they're given enough information to show them how much they don't really know about the rate-setting process, and maybe that is -- that's what the two consultants had indicated to me, was, you know, was the basis for that statement, that they now knew more, but now they realized that there is all kinds of other things that they don't know, and that was causing the concern and frustration.

MR. THIESSEN:  I would just assume then that Hydro One's customer relation staff would be using that information in an effort to clarify customer perceptions of ratemaking and principles.


MR. ANDRE:  Yeah, absolutely.  You know, I think our communications that we send out through bill inserts and responses to individual customers when they write written complaints to Hydro One are very much focused about trying to educate them on what drives the costs.   But you've got to wonder if this statement that, you know, you were educating these focus-group participants one-on-one and they were sensing that concern and frustration.  Certainly we are making an effort to educate customers through these bill inserts.   I am not guaranteeing that that education isn't also resulting in more concern and frustration, but certainly we're trying to do our part to educate customers.

MR. THIESSEN:  Again, it is unfortunate customers don't appreciate the art of cost allocation and rate design.


[Laughter]

MR. ANDRE:  Few of us do.
Questions by Mr. Ted Cowan:


MR. TED COWAN:   Can I insert a question here?  This is really just one of our -- is the company open to a cap on the rate?  So in the case of a cottager with a $600 annual bill at 3,000 kilowatt-hours, he is looking at about 50 cents a kilowatt-hour, something like that, a little less than that, I suppose.  But I do know lots of customers who are paying 50 cents a kilowatt-hour, and they think that's excessive.  So would you be open to a cap of 25 or 35 cents a kilowatt-hour?  This is something that would apply to everybody.


I know farmers and small retailers in the same situation, where low-volume results in what appear to the customer to be very excessive charges.   And so it is just a general question, and if you are open to it, we would be pleased to hear that.  If you aren't, I suppose, we would welcome that news too in a different way.

MR. ANDRE:  So it gets at a bit of a policy issue.

MR. TED COWAN:  It is.

MR. ANDRE:  But from a rates perspective, Ted, I guess my concern was, rates are a zero-sum game.  So if you are capping the amount that certain customers pay, that means there will be other classes that would have to take up the slack.   And so from Hydro One's perspective, in terms of, you know, aligning with the Board's principles on cost causality and have everybody pay what they are -- you know, the costs that they're incurring or they're causing Hydro One to incur to provide them service, I think that is the best principle to follow, because anything else you're going to get into, okay, well, who should pay then to offset the costs for these other groups, and I think that is fraught with its own issues.

MR. TED COWAN:  Okay.  Right.  The question of principle, I guess, is one that we can deal with in front of the Board, and I have always respected your principles, but they're not necessarily mine.


[Laughter]

MS. LEA:  All right.  So there's been a request to move to line losses, and we have a few questions on bill impact, which we can hold until after line losses.

Anything else before I move to line losses?  All right.  Let's begin that discussion.  Harold, do you have some questions on that?
Questions by Mr. Thiessen:


MR. THIESSEN:  Yes.  I just have a couple of clarifying questions, and at Exhibit G1, tab 8, schedule 1, there's a statement that said that Hydro One found that the actual losses on the Hydro One distribution system tracked well from two-ten to two-twelve, but that there were variances from year to year.

Could you clarify that more specifically?

MR. BUT:  So Harold, the statement is made in reference to the variance that the consultant found for the year 2010, '11, and '12.  Simply put, the variance for 2010, the difference between what we bought from the IESO grid and how much we bill from a customer, the variance is about 1.4 percent.  And this is in reference to table ES3, page 5, in Exhibit G1, tab 8, schedule 2, in the attachment 1.  And you can -- if you do the calculation, you will find that the variance is about 1.4 percent.  That means we under-collected 1.4 percent.  In 2011 we over-collected about .6 percent, and for 2012 we over-collected 2. -- about 2.3 percent.

On average, for the three years, for 2010 and 2012 the average variance, if you count the three years together, is .5 percent.  We over-collected .5 percent, and that is what that statement refers to.

MR. THIESSEN:  And how did that inform you going forward, in terms of your line losses?

MR. BUT:  Hydro One will continue to follow the Board direction to continue to track the variance account for line losses, and we will continue to do the variance analysis as directed by the Board.

MR. THIESSEN:  And are you going to adjust for that .5 percent that we just talked about on average over those three years?  Or how does that impact the line losses that you are assuming going forward?

MR. BUT:  The analysis done by the consultant, Harold, is that they have used three years of information, from 2010 to '12.  And we have a small variance of minus .5 percent.   And as you know, Harold, as directed by the Board in the calculation of variance analysis, I believe we should look at much more longer-term performance, five years or more, so that is the reason why a moment ago I said we will continue to do the variance analysis, and we will take appropriate action as appropriate.

MR. THIESSEN:  When you have a longer-term indication?  Correct?

MR. BUT:  Yes.  And then we will, for sure, to bring that subject back in our next rate applications.  But in the meantime, as recommended by the consultant, there is no need to change that overall line loss for the total system.

MR. THIESSEN:  All right.  Thank you.  And that brings me to my second question, where it says that Hydro One is not proposing to change the total loss factor at this time, which is right in that paragraph that we were just talking about.

MR. BUT:  That's correct.

MR. THIESSEN:  Yet on table 1 on the next page, it talks -- it actually indicates that the loss factors are going to be changing from current to proposed.

Now, do I have that confused, or how does that work?

MS. LEA:  I'm sorry, I am just going to interject to say we're referring to Exhibit G-1, tab 8, schedule 1, the page references.  Thanks.

MR. BUT:  Thank you, Harold.  Perhaps I could add some clarity to those statements you just made.

For the first statement, that Hydro One is not making changes to the total loss factor, I think that pertains to the total distribution system.

And that is the answer I provided earlier.  There is only a very small variance that we have seen for the three years we talked about, and so there is no need, as recommended by the consultant, to change the total loss factor for the Hydro One distribution system.

For the second statement you referenced to, as part of the line loss study, the consultant did analysis in terms of rate class, but from an allocation point of view the consultant made recommendations to Hydro One that some changes should be made, and we accepted.  In this case, we accepted the recommendation from the consultant, so we are making changes to certain rate classes.

MR. THIESSEN:  So the total line loss for the entire system remains the same?

MR. BUT:  Remains the same.

MR. THIESSEN:  And you're making changes within classes?

MR. BUT:  In terms of the allocations.

MR. THIESSEN:  All right.  Thank you very much.
Questions by Mr. Poch:


MR. POCH:  While we're on that, can I ask:  Am I correct that at this point -- I know the Board has encouraged all distribution utilities to try to reduce line losses, but in fact there is no financial incentive in the rate-setting process for you to do so.

MR. ANDRE:  Yes.  I think I can answer that one.  There is no financial incentive to reduce individual losses, David, but I can tell you that, as a company, all of the work that we take on, we always take losses into consideration.

And so we look for opportunities to reduce losses wherever we can.  I will give you a couple of examples.

If we're building a new line or upgrading an existing line, we will look at increasing the conductor size that we put on, because the incremental costs, the bulk of the cost is setting up the crews and the poles set -- using a slightly larger conductor has a very small incremental cost, but will reduce line losses.  So we will look for those opportunities.

When we're siting a new station we certainly take into account the length of the feeders that will be coming out of that station to supply customers.

When we're sustaining stations, we look at the opportunity to maybe shut down a station that is operating at a lower voltage and instead bring in feeders from nearby stations that have a higher voltage.

So we do look for opportunities to reduce losses.

MR. POCH:  I guess -- maybe this will inform the discussion later -– my concern is, you know, you are under some pressure from everybody in the room and the Board, I assume, too to keep your expenditures down, your capital expenditures inclusive down.

It seems to me there's examples where you could buy a more efficient transformer; it's going to cost more, so the company is facing these offsetting pushes.

And I guess I just want to make sure my conclusion -- my understanding is correct, that there is no -- I think you have already answered it.  There is no financial incentive; it is just a question of trying to do what is rational?

MR. ANDRE:  Yes.  What is efficient, cost-effective, yes.

MR. POCH:  All right.  Thank you.

MS. LEA:  Questions on line losses?

MR. TED COWAN:  Yes.

MS. LEA:  Ted, and then John.

MR. TED COWAN:  Pardon?

MS. LEA:  Sorry.  I said Ted and then I noticed John had his hand up as well.  So I don't want to forget anybody.  So you go ahead, please, Ted.
Questions by Mr. Ted Cowan:


MR. TED COWAN:  I'm sure you won't forget anybody.  I'd sent off a page earlier, and essentially three or four categories.  The first question would be not in the order that they were on the page.

The line loss variance account, is it reconciled in proportion to use?  Or does everybody get an equal share?  So if my line losses were $1,000 last year and it was an over-payment of $400, will I get $400 or will I share the $400 with 1.2 million other customers?

MR. BUT:  Hydro One has not come down to the decision of disposing the variance account yet, but my guess would be it would be done according to the contribution made by the customer in terms of what -- in terms of their energy consumptions.

MR. TED COWAN:  So it is not a hard and fast rule?

MR. ANDRE:  No.  If I could just add, so the variance account, it's -- that balance is being tracked in what they call a RSVA account, retail settlement variance account, and the Board has specified or specifies how RSVA balances are to be cleared.

And, Ted, the -- that balance is cleared across all rate classes.  So it is not customer-by-customer specific.  You will be sharing --

MR. TED COWAN:  So I contribute to it generously, and then share equally?  It's Lent while contributing and Halloween at payout?

[Laughter]

MR. ANDRE:  I would think that tracking the individual losses would be -- I mean, certainly all I can say is the Board's methodology, it is true for all other accounts, Ted.  So there may be other accounts where -- RSVA accounts where it goes the other way, but I think that is how the Board --

MR. TED COWAN:  That's enough sad information for the moment on that point.

You started in answer with Mr. Poch with respect to what has actually been done to reduce losses.

Over the past 10 years, losses are well in excess of a billion dollars, of which perhaps 300 million would have been technically avoidable had significant measures been taken to reduce that 95, 100-plus million a year down to 60, 65 million a year.

What has been your expenditure on line loss avoidance in the last ten years?

MR. ANDRE:  So as I mentioned in the examples I gave, Ted, that the reduction of losses is taken into consideration in a number of programs, but you -- there wouldn't be or certainly we don't track any cost differential between doing it one way versus doing it another way that sort of minimizes the losses.

So we don't have that information.

MR. TED COWAN:  So you can't -- we could be certain that there is a 300 million in avoidable loss if we were to go from current levels down to roughly two-thirds of that, which would be a very efficient and a very low level of losses compared to other North American distributors.

But we don't know whether anything, then, has been invested to achieve that saving for customers?

MR. ROGERS:  That is not really what he said, Mr. Cowan.  And I don't know where your number is coming from, and you will get an opportunity to testify in the trial -- or the hearing.

[Laughter]

MR. ROGERS:  Which at the moment I'm feeling is going to be like a trial.

[Laughter]

MR. TED COWAN:  My apologies.  There is no rope hidden in my suitcase.

[Laughter]

MR. ROGERS:  Well, there is in mine.

[Laughter]

MR. TED COWAN:  Fair enough.  Okay.  We'll leave that one as is, other than I wish to make clear the sense that line losses have added up to a very large number the last decade, that they are friction.  Some fraction is completely unavoidable; it has got to happen or nothing happens.

But the other fraction is avoidable; we think about a third.  And we would like to see a cost and a savings associated with that.

With respect to the way in which line losses are allocated, I notice that Alberta does a measurement for every transformer in the province.  Their IESO does that, or their equivalent.  So people on the -- served by the same transformer get the same line losses.

Here, you get line losses according to class, whether you are a different sort of customer all from the same transformer.

Line losses are largely driven by distance and by peak, and by line quality to some extent.  Of those three things, peak is the thing that is controllable by the customer.

So they could be billed on a coincident peak basis if we wished, or at least in part.

I guess my question is:  Is the company open to looking at different models of billing that might have a greater degree of fairness or customer control in them, or not?

MR. BUT:  Ted, I must be honest.  I am not an expert about what happens about line losses calculation in other provinces.  So I should say I don't know what happened in Alberta.

But in Ontario, for Hydro One and for other LDCs, we are definitely following the line loss by rate class approved by the Board in previous proceedings.

MR. TED COWAN:  But with just essentially the model that you proposed, which the Board approved.  So I am asking, are you open to proposing other models?


MR. BUT:  At the present time I don't think we have any plan to change that, and...


MR. ANDRE:  And I would add, Ted, the model that Hydro One uses is the model that really the Board has approved for all other utilities.  So I would think that something as fundamental as changing the losses that customers pay for on their bill, which really impacts the commodity cost, would be something that the Board would look at in the context of the industry as a whole, as opposed to something that Hydro One would recommend on its own initiative.


MR. TED COWAN:  But if I recall, it's not distribution-service-code-specific.  It is utility-specific.  So compared to Toronto, which is basically a point-source loss problem, as opposed to the distance in peak questions -- they are very different kinds of fish and might well be treated differently.

And then the last question, in the line-loss table, I believe it was page 4 of the Navigant study -- sorry, page 5.  My apologies.  Figure ES-3.  The rates of losses declined 2010, 2011, 2012.  You have chosen -- or Navigant chose to recommend an average of the three, which comes out to very close to present loss, total loss factors.  Yet 2012, which has the best data, the data they used for everything else they did, has the lowest rate of loss and would make quite a difference to the total loss factor and the total cost customers, and I am wondering, why not go with 2012, as it is in their own estimate the best data?


MR. BUT:  Ted, I would like to clarify that the study done by the consultant is a study to advise Hydro One how to estimate the -- all the value of the variance for the purpose of addressing the RSVA account 1588.

So the consultant is not recommending averaging the line losses over 2010 to '12, as you just mentioned.  We are tracking the line-loss variance every year starting 2010.  And the column you just referenced to is just to give the audience an idea what is the overall average for that three-year period.


So the consultant is not recommending taking the average or the line loss, nor the consultant recommending using just 2012 as the most recent information and therefore use that as the line loss going forward.


MR. TED COWAN:  Right.  For R2, which covers most of our members, the new proposal would be ten-and-a-half percent, up from 9.1 percent, had it been based on -- that's from ES-5 on page 8.  Had it been based on the 2012 number from the table on page 5, it would be substantially lower than 10.5 percent.  Instead of going up from 9.1, it would have gone down.  And that's quite a difference.  And the 2012 data is apparently the best data.


And given that there's been apparently a major effort to improve the lines that there's distributed generation that total loads are down, I would have thought losses would have dropped in the past five years, not gone up.  And they only go up based on the 2010 data.  Everything else suggests they should be down.  And that is all I -- that's my question.  Why go with the numbers that point up -- and it --


MR. BUT:  So Ted --


MR. TED COWAN:  -- other factors would suggest they should be down?


MR. BUT:  -- for the line-loss estimate for a particular year, it could be affected by a number of factors, such as colder, warmer weather affecting the consumptions, and then, therefore, the line losses.  It could be affected by billing cycle for which Hydro One has 20 billing cycles, and it could be affected by very simple thing in the industry such as cancel and rebuild.

So for any single year, based on the factor I just cited to you, it would affect the line-loss calculation, and for that very reason alone we cannot just use one year for the purpose of saying going forward we should be using that number for 2012.  It so happened that this is a lower number.  What happened, that is a higher number?  So what are we going to do?  So are we going to increase the line loss?   So I just want to clarify that for the purpose of the line-loss variance account Hydro One is following the Board direction, that we are tracking the variance on an annual basis for the purpose of monitoring how the line loss go up and down over time.


MR. TED COWAN:  Okay.  I think that is what I wanted to know or learn, or that is the answer, I guess.  Thank you.
Questions by Mr. Thompson:

MR. THOMPSON:  Can I just ask one question on the method that you used to estimate the line losses?  And I am drawing from the -- my gas experience, where I believe they forecast lost and unaccounted-for gas based on a three-year average, but they weight it so that the most recent experience would have a higher weighting than the prior two years.  I think it is three, two, and one is the weighting.  Is that the way you folks do it, or you just use a three-year average, or what is the basis for the...


MR. BUT:  No, Peter, the line loss Hydro One uses similar to other LDCs is not being using -- is not a method that we use, using the average of the last three years or whatever.  We are using the line loss approved by the Board in previous proceeding and by rate class.  So until such time that we notice that the total line loss for the distribution system require changes or by rate class require changes, we would be using the same methodology that we got approval from the Board, in terms of charging line loss by rate class.  So we are not taking, as I mentioned a moment ago in response to Ted's question, whether it is one year or the average of three years or two years.


MR. THOMPSON:  Okay.  Thanks for clarifying that.  So what would it take to prompt Hydro One to propose a change to the line loss -- the Board-approved line-loss allowance?  Would it take a low year or a low two years or low three years?  What...


MR. BUT:  Peter, it would be a -- I would guess that it would be a significant amount, material that we observe over time, that the company thought that it would be appropriate to make a change.  And then at that time we would definitely come back to the Board for approval.


MR. THOMPSON:  So is this monitoring that you are doing now going to provide the data that will --


MR. BUT:  The variance account will definitely serve the functions, to therefore -- it will be basically tracking whether in a particular year we are over-collected or in other year we are under-collected, and that is the very purpose for the variance account.


MR. THOMPSON:  Okay.  Thank you.

MS. LEA:  Other questions on line losses, John?
Questions by Mr. McGee:

MR. McGEE:  Yes.  This deals with table 1, Exhibit G1, tab 8, table 1, the loss factors.  And I notice there that -- and this comes directly from the Navigant report -- that three classes -- five classes are going down, the line-loss factors are going down, but two are going up.  And the two going up, of course, is the R2, which is the lowest density class, and good old seasonal, 10.4 percent.  I would have expected the line-loss factor for seasonal to be roughly halfway between that of the R1 and the R2 class, given that the density falls right smack in the middle of those two classes.  Or perhaps Navigant based their numbers on something other than straight density.


MR. BUT:  The consultant used a detailed engineering analysis and looked at the allocation of line loss by rate class.  And this is the recommendation that they put forward to Hydro One.  The details of the analysis is provided by the Navigant report provided in G-1, tab 8, schedule 2, attachment 1.


So I believe they have explained the reason why they are -- why they're recommending what -- the changes in the allocation to Hydro One.


MR. McGEE:  Okay, sir.  There are factors other than density involved in this issue, then, I presume?


MR. BUT:  I don't have the detail, because I did not do the engineering analysis myself.  So I don't have the detail to respond to you, that -- perhaps if you would like to ask this question in an IR process and we will provide the detailed answer to you.


MR. McGEE:  Okay.  Thank you.


MS. LEA:  Thank you.  Board Staff has a question about bill impacts and mitigation.  All right.  We will go ahead with that and see what we've got left.  Thanks.
Questions by Mr. Thiessen:

MR. THIESSEN:  Yes.  I just have a question on bill mitigation.


And I understand that for the customers that are switching between classes because of your study to define those classes and which customers fit into them, that if they have a bill impact of over 15 percent, that you will initiate a mitigation.


And I guess my question is:  What was the rationale for using the 15 percent?  I think in the evidence you talked about previous Board cases.  Could you just explain that?


MR. ANDRE:  Yes.  So the -- it first happened in our 2008 cost of service application, where Hydro One proposed the harmonization of the acquired utilities.  And then that harmonization went over four years, so a similar mitigation was then subsequently proposed in Hydro One's 2010 and '11 application.


But the mitigation for harmonization of acquireds had had that same issue.  It wasn't that your requirement was changing.   It wasn't rates -- rate impacts related to that.  It was rate impacts related in moving from one rate schedule to another rate schedule.


So as part of that harmonization mitigation, the Board approved the special mitigation scheme that was tied to -- and it is 15 percent or a certain dollar amount.  There is two qualifiers on whether special mitigation is required.


And so that's -- we think there is sort of an alignment to the move between rate classes similar to what happened during harmonization.


So that's -- we're going with that proposal that the Board has previously reviewed and deemed appropriate.


MR. THIESSEN:  And this would just be a one-year mitigation, because they're only switching classes in the first year?


MR. ANDRE:  Yes, that would be -– yes, that is our proposal.


MR. THIESSEN:  And I note from the evidence that you are going to apply this mitigation via a one-time credit to the customers' monthly bill?


MR. ANDRE:  Yes.  The -- I spoke to our -- I spoke to our implementation customer -- customer folks that would deal with the implementation.  I just wanted to confirm that a credit on their bill is a workable arrangement.


And I know it references a one-time credit, but in preparing for this, I went back and reviewed how the previous mitigation was actually implemented, and it turns out that it was a credit -- they worked out a one-time credit, but then divided it by 12 and applied it on the monthly bill over the whole year period, which seems to me to probably be a better approach.


So we haven't quite worked out the details, but I don't think -- we'll probably be updating that reference to a one-time credit in our blue-page update and just saying a monthly credit over that first year.


MR. THIESSEN:  Yes, that was exactly my question, so thank you for that answer.


MR. THOMPSON:  Can I just follow up there, Harold, on that subject?  Would that be okay?


MR. THIESSEN:  Absolutely.


MS. LEA:  Yes.
Questions by Mr. Thompson:

MR. THOMPSON:  If you go to slide 6 of the presentation this morning, we see there the UGD, which is the -- going to the general service demand, urban to non-urban, 67 customers in there.  And I suspect there might be a few small manufacturers in there.  Then that is showing total monthly bill impact at 20 percent.


Now, is that like an average for the group, or is that for everybody?


MR. ANDRE:  That percentage was based on an average consumption.  Not for the group, just what a total bill would look like for an average consumption.


As you know, I mean, for UGD there is -- it's hard to pin down what an average is, but we use the amounts, the same values that we use for calculating the bill impacts that are part of the application.


So at that consumption level that we referred to in the application as the average for UGD, that is the bill impact.


MR. THOMPSON:  So there's 67 people in here, customers, and some could be much higher than 20; is that right?


MR. ANDRE:  Yes.  Some could be higher than 20, yes.


MR. THOMPSON:  And would some be lower?


MR. ANDRE:  Absolutely.  It would go both ways.


Peter, let me just look.  I don't know if in that table for the rate class review impacts -- I am just going to pull it out.


Yes, so in Exhibit G-1, tab 7, schedule 1, table 2 in that exhibit is where these numbers were pulled from.  It shows the impact on typical low and high.  So from that exhibit, you can get a sense of what the range would be.


So for typical UGD to GSD, I see the 20 percent figure, which is what was quoted on the presentation.


Then it can be, you know, as low as 16.9 if you are a high-consuming UGD, or up to 23 percent if you are a low-consuming UGD.


So that table gives you a sense of how that might vary across different consumption levels.


MR. THOMPSON:  And so they would get some relief for year 1, but the transition would be completed in the second year?  Is that where you have this 15 percent level that you are talking about?


MR. ANDRE:  Yes.  So the 15 percent level, what we would do is we would look at the prior 12 months' consumption for that individual customer.


So this special mitigation is done on a customer-by-customer basis.  So we would look at that consumption in the prior 12 months, and say:  Okay, what would their impact have been if they consumed that at that level?


And then we calculate how much mitigation is required and we would give them a credit associated with that mitigation over the current year.


MR. THOMPSON:  Right.  But that would cease --


MR. ANDRE:  Yeah.  It would just be for 2015.


MR. THOMPSON:  Right.  Okay.  And the last question on this is:  Do these individuals, do they get some sort of notice individually?  Or is it they just are to assume all of this from what they read in the newspaper?


MR. ANDRE:  No.  There will be -- I mean, we're making a number of changes in this application, on cost -– well, cost allocation we might not get into, but certainly from a rate design perspective and a rate class review perspective, seasonal customer class.


So there will be a detailed implementation and communication strategy developed, to make sure that customers are aware of the changes that are coming.


And then once approved by the Board, you know, like I said, we're developing a strategy that will look at the various avenues that we have available to us for communicating with customers, to let them know that it's going.


They won't have to just read about it in the newspaper.  Absolutely not, Mr. Thompson.


MR. THOMPSON:  If I could just ask one other impact question.  And I think Vince sent out a letter on this yesterday, and I don't know if we understand this correctly.


But because of all of this shifting of a lot of customers going from a lower density to a higher density -- and that triggers rate reductions -- do we understand correctly that there is an overall revenue requirement increase related to more customers moving to, in effect, lower rates?


And that is -- and is that causing an increase to every customer at 3.4 percent?


MR. ANDRE:  Right.  So the 3.4 percent is an estimate of the impact based on 2014 rates, but, yes, there will be an increase to all rate classes, to make up for any lost revenue as a result of not just, you know, the rate class review changes, but the way the model works, Peter, is that you work out the revenue at current rates based on whatever load forecast you are assuming.  And that will generate a certain amount of revenue.  Whatever percentage increase you need to escalate that forecast revenue by in order to reach your revenue requirement for 2015, that increase is applied uniformly across all classes.

So your understanding is correct that offset in reduced revenue as a result of customers moving to rate classes that pay lower rates would be shared among all other classes.


MR. THOMPSON:  Okay.  So that going back to the 67 then, they -- because they're in a non-urban density area, they move to the GSD rate, and that is -- generates an increase.  And then there is an increase attributable to, I think, to the revenue-to-cost ratio shown on slide 10, and then over and above that there is an increase related to other customers moving to lower-priced rates.  Is all of that in the 20 percent?  Or are the other impacts on top of the 20 percent?


MR. ANDRE:  No.  They are all -- so that table shows the final impact.  They're all in there already.  All of the -- that is the impact of all of the proposals that we're requesting in this application.  There isn't anything extra that needs to go on top of that.

MS. LEA:  Which table is that, just for the record, please?


MR. ANDRE:  It is the final impact, so it is -- let me just pull it out for you.  So G1-7-1, which has the bill impacts.  table 2 shows the bill impacts to customers moving between rate classes.  And so the final numbers that you see in that are the impacts of moving from the rates that they are currently paying to the final rates, including all elements of Hydro One's proposal.


MR. THOMPSON:  And that's also -- parts of that appear on slide 6.

MR. ANDRE:  Right.


MR. THOMPSON:  Thank you very much.
Questions by Mr. Ted Cowan:

MR. TED COWAN:  One interjection, if I may.  On slide 6 the UGD to GSD and the UGE to GSE, combined 378 customers, could these customers be grandfathered?  There are less than 400 of them.  To the extent that -- I believe some of these are greenhouses in the Leamington area.  They have already been approached by the state of Ohio to move there.  They could solve your congested transmission line to Leamington, I guess, by leaving.


MR. ANDRE:  So Ted, I'm not -- I'm not exactly sure who makes up these 370 customers.


MR. TED COWAN:  Neither am I.  But some of them, I believe, are in the Leamington area, I've been told.


MR. ANDRE:  Okay.  Something like that introduces something that's going to have to be tracked on an ongoing basis in the billing system.  So from an administrative standpoint it introduces some issues.   And then again, you know, it's freezing the rates for these customers, and I appreciate your point that it is not a lot of customers, but there is some offsetting revenue that would have to be made up for.

So, you know, we're at the hands of the Board, in terms of, we're putting a proposal that I think is consistent and -- consistently applied across all rate classes.  I would imagine the Board would entertain any other options.


MR. TED COWAN:  In that sense the question becomes -- and you don't need to answer it definitively at the moment -- but would you oppose a suggestion that they be grandfathered?  That is, they stay in the UGD rather than be moved?  Just ignoring a line that apparently might be 150 metres too far east or too far west.


MR. ANDRE:  I think our going-in position would be one of consistency, consistent treatment of all customers, and, you know, aligning with the principles of cost causality.   So our position would be something that would be consistent across all customer classes.  But I will take direction from whoever makes those kinds of policy calls here.


MR. THOMPSON:  Some famous author has said consistency is the hobgoblin of a sterile mind.


[Laughter]

MS. LEA:  Okay.  I think Harold has --


MR. ANDRE:  I think you mean it...


[Laughter]


MS. LEA:  Why don't we break?
Questions by Mr. Thiessen:

MR. THIESSEN:  I just have a couple of quick follow-ups, and that is, the customers that shift to the R2 class, the R2 class benefits from the RRRP, right, their rate reduction.  So when you shift a customer to that class do they just automatically qualify for RRRP?


MR. ANDRE:  Yes.  If all customers that our system is set up -- billing system is set up that all customers in the R2 class receive the RRRP credit, so if they're moving to that class they would get the credit, yes.


MR. THIESSEN:  And on table 2 then, all those bill impacts would include that credit in these bill-impact calculations for customers shifting from, for instance, UR to R2?

MR. ANDRE:  Yes.


MR. THIESSEN:  Okay.  And the number of customers in each of these rate-class categories that shift in table 2, G1, tab 7, schedule 1, table 2, were the number of customers in each of those categories on that table, were they provided in the evidence, or did I just miss that?


MR. ANDRE:  No, yeah, they are, yeah.

MR. THIESSEN:  They were?  Okay.  Then I will look that up.  That's fine.


MR. ANDRE:  It's in the customer classification exhibit.

MR. THIESSEN:  Okay.  And one final question.


When you identify customers, especially in residential classes for mitigation, do you do that on a customer-to-customer basis, like, every single customer that makes the shift to the class, when you do the calculation as to whether they qualify for mitigation, do you do that on an individual basis?


MR. ANDRE:  The special mitigation --


MR. THIESSEN:  Yes, that's --


MR. ANDRE:  -- as a result of the rate-class review, yes, that would be our plan.  That is the way it was done when we looked at the special mitigation for the acquired customers. So my intent would be that we would do the same for these.


MR. THIESSEN:  Thank you.
Questions by Ms. Girvan:

MS. GIRVAN:  So just a quick question:  Are the 11,000 customers that are formerly cottage cust -- or seasonal customers moving to R2?


MR. ANDRE:  There's --


MS. GIRVAN:  And if so, they would get rural rate protection?


MR. ANDRE:  Yes.  As I said, our system is, if they move to R2 they'd get it, and I think that was a question that John had raised earlier.   The 11,000, it is about 6,000 moving to R2 and about 5,000 going to R1.

MS. GIRVAN:  Okay.


MR. GARNER:  And can I just follow up?  If you go back to your 2011 study that you did, that's actually, as I recall, what it said in the study is that when you say seasonal falls in between R1 and R2, as I recall, what that study was really saying was that the density of seasonal customers fall between R1 and R2.

So within seasonal you have some high-density customers and within seasonal you have some low-density customers.  And so splitting them out, like you say, based on that study, that's kind of what you would expect of, if 50 percent went to one density and 50 percent went to another density.


MR. ANDRE:  Yes.


MR. GARNER:  So can I follow up?  Because you were able to do that, again to this question, could you create a class of -- get rid of seasonal and create classes in the low-density R2 class of high-load and low-load customers?  Is that a possibility, just as a technical thing?  Could you do that?


MR. ANDRE:  We went through a lot of effort back in 2008 to try to reduce the number of classes to make it administratively more efficient and reduce the costs of our billing system.   So I think any move to increase classes would be just adding costs to our billing system.  So --


MR. GARNER:  That isn't what I was suggesting increasing.  I'm saying if you got rid of seasonal class and just moved the customers to their basic densities, R1 and R2, because that is where they would all go, right?  They would just split up between those two groups.  And then within the low-density class you had a high-load and low-load class.  You would still have the -- just as many classes today.  You would just replace the seasonal with a high- and low-load low-density class.


MR. ANDRE:  I know that one of the things that our billing folks struggle with every year is that right now, if -- general service, there's that distinction between above 50 and below 50 on general service.   And one of the exercises they go through every year is monitoring the consumption, making them move, dealing with issues and complaints of customers that are right on that border and moving from one class to the other, and doing it for something, and that's for a class that's got a relatively small number of customers.  Doing it for a class with, you know, 3-, 400,000 customers I could see being quite problematic.


MR. GARNER:  Okay.


MS. GIRVAN:  I just had one sort of follow-up, because I know in 2008 what you did was you took seasonal -- we had two seasonal classes, and you merged them.   Would you consider to address some people's concerns going back to that?


MR. ANDRE:  Julie, I don't know that that would -- those two rate classes were based on density.   So it was, you know, you had your higher-density customers, seasonal customers, and your lower-density.  It wouldn't -- it wouldn't address the issues that we've heard loud and clear about consumption.


So you would still have -- so within the high-density class you might have high-consuming and low-consuming who would see it as unfair.


And then even within the low-density, you may have high-consuming and low-consuming who would see it unfair.


So I don't see that is an option, as addressing the concerns that we heard about and we're trying to address in the application.  It doesn't fix it.


MS. LEA:  Any further questions?
Questions by Ms. Girvan:

MS. GIRVAN:  I just had one, sorry.  Going back to --


MS. LEA:  You were the gal that was asking me when we were going for lunch.


MS. GIRVAN:  This is my last chance.


[Laughter]


MS. GIRVAN:  One of the questions in the results of your focus groups, the question is -- and I think this is what the Balsam Lake is sort of getting after -- the question is:

"Why does it cost $342 more to deliver energy to me than it does to the guy 100 metres down the road?"


And I just wondered how you address that, in terms of explaining that to customers.


MR. ANDRE:  Yes.


MS. GIRVAN:  It's the same poles, the same line.  The poles are similar.  They're like-and-like customers, exactly alike.


MR. ANDRE:  Right, right.


MS. GIRVAN:  Is part of the reason is that if you are a full-time customer, you get the rural rate protection?


MR. ANDRE:  No.  No.  I mean, it helps.  The rural rate protection helps reduce the cost.


But the fundamental reason for that, Julie, is -- so when they're telling you $342, they're probably looking at a bill that they got at a point in time.  I don't know if it is a -- probably a three-month bill, because that is how seasonal customers are billed.


If you go to the cost allocation model, you will see that the costs allocated to the seasonal class, as I said before, are not dissimilar from the costs allocated to other classes.  Okay?


But the -- if we are to get those same bucket of costs from the seasonal customer, I've got to -- he is only going to pay for maybe three, or she, three months or six months.  So over that three- and six-month period, his bills will look higher than their neighbour's, because that neighbour is paying that charge over 12 months.


So from a cost perspective, they are -- we are recovering similar costs from both customer groups, but because we have to recover those similar costs over a shorter period with the seasonal, that is why they're seeing higher bills.


MS. GIRVAN:  But as you move to higher fixed charges, then there is less of a difference, right?  Because in a sense, if I just paid -- I'm paying in the winter, you know, $25 a month and I am not using any electricity.


MR. ANDRE:  Yes.  You got it.


MS. GIRVAN:  And as that goes up, I'm going to be contributing more –-


MR. ANDRE:  Correct.


MS. GIRVAN:  -- to my fixed costs, because I'm paying for the poles and the wires that are sitting there and not being used.


MR. ANDRE:  Not being used, but certainly ready and -- ready and able to deliver electricity to you if -- should you decide to go up for a certain period of time.


So those assets are there, ready for you to use.  You may not be using them, but we certainly can't come and rip them away and come back and -- when you need to, and put them back in.


So those assets are there.


But you are absolutely right, Julie; raising the fixed charge would minimize that:  Oh, look at my bill for this three-month period versus your bill for the three-month period.
Questions by Mr. Garner:

MR. GARNER:  Sorry, Jennifer.  Can I just -- I have just one follow-up to that.


Because you keep saying that they're similar, and maybe I am misunderstanding it, but if I go to your table, which is on slide 10, what I think you see if you simply take a quick division -- and you can correct me if I'm wrong -- a division of the allocated costs to the number of customers, you would see that seasonal and R1 are very close, but R2 has actually got a lot more costs allocated to those customers.


And if I understand this correctly, seasonal is a mixture between those two classes.


So my conclusion from that would be some seasonal customers are paying too much and some -- are paying too much for their density, and some seasonal customers are paying too little for their density.  It depends, because they're getting an average, because within that class you're getting those two densities.  And those two densities on their own have different allocations of costs into their class.


So if you are a seasonal customer right now, you're getting an allocation of costs like R1, but if you were split out of that class -- like you did to some customers -- and you ended up in the R2 class, you're going to actually see a fairly big new allocation of costs to you that weren't there before.


So seasonal is kind of a mix of both of those.  Those who would end up, if you got rid of the class, falling into R1 wouldn't see much difference, as I look at the ratios.


But those who get allocated into R2 would see a considerable difference in the costs allocated to them; is that correct?


MR. ANDRE:  So you're correct, in that they are most similar to the R1, which suggests that the model -– again, the model has other impacts on it, the minimum system and PLCC; all of those things drive to determine how much costs are allocated.


But your observation is absolutely bang-on, that the seasonal customers on a per-customer basis is not too dissimilar for an R1.  So what that says is that seasonal customers for the whole class, they, in fact, are paying per customer a cost not dissimilar from somebody who is in a small town.


So if they were in R2, to me it suggests that there are some seasonal customers who should be paying costs more like an R2, because that's what –-


MR. GARNER:  That's what I see is -- by the simple ratio, is no customer who went to R1 out of seasonal they would do much different than they would anyway.


They would end up basically in the same type of allocation, but a subgroup, another group -- about 50 percent of those customers -- would actually be allocated into a higher cost class?


MR. ANDRE:  Right.  Yes, but because -- they would be allocated to a higher cost class, but the number in proportion to the number that are in that R2 class -- and if you look at the rates -- if you looked at their total bill, I don't see their total bill changing that much.


Like, a seasonal customer moving into an R2 class, depending on their consumption, would get a sort of similar bill.


If you are a very high-consuming seasonal customer moving into the R2 class, you will see a decrease.


But an average seasonal customer, whether they're in the seasonal or the R2 class, would probably end up paying about the same.


MR. GARNER:  But, Henry, that is also because they get the RRRP, right?  That is their subsidy for the --


MR. ANDRE:  That is part of it, yeah.


MR. GARNER:  Thank you.


MS. LEA:  Last call for questions.


All right.  I think, then, unless anybody has any procedural matters that have to go on the record, that would complete the on-the-record portion of today.  So we will close the record and then I will make a few remarks about this afternoon.


Gentlemen, just please hit the "air" button, but leave the mics on.  Thank you.

--- Whereupon the conference adjourned at 1:10 p.m.
87

